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Q.1 Ifall the alphabets within each of the four given words are replaced with the immediately next alphabet as per the
English alphabetical order , how many letter-clusters thus formed will have at least | vowel within them?
JUMP SWIM FAST HIDE

Ans s 1 2
X2 3
X3 1
X4 4

Question ID : 630680833743

Option 1 ID : 6306803265852
Option 2 ID : 6306803265853
Option 3 ID : 6306803265850
Option 4 ID : 6306803265851

Q.2 How many digits are there in the given number-symbol series that are immediately preceded by a symbol and
immediately followed by another symbol?
¥8S3!1 741 @4%9*2@6%0S1&2

Ans X 1, 5
v2 10
X3 8
X4 12

Question ID : 630680833706

Option 11D : 6306803265704
Option 2 ID : 6306803265702
Option 3 ID : 6306803265703
Option 4 ID : 6306803265705
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Q.3  Select the option that is related to the fifth set of numbers in the same way as the second set of numbers is related to the
first set of numbers, and the fourth set of numbers is related to the third set of numbers.

(7.8,9): (35,40, 45) :: (11, 12, 13) : (55, 60, 65) 2 (16, 17, 18) : 2,

Ans X 1. (75, 85, 90)
X 2. (80, 90, 95)
X 3. (85,90, 95)
« 4 (80, 85, 90)

Question ID : 630680833852

Option 1 ID : 6306803266289
Option 2 ID : 6306803266288
Option 3 ID : 6306803266287
Option 4 ID : 6306803266286

Q4  Which two numbers should be interchanged to make the given equation correct?
69-24+2x20+11=5
Ans X 1. 2 and 24
¢ 2. 5and 20
X 3. 24 and 69
X 4. 2 and 20

Question ID : 630680833847

Option 11D : 6306803266269
Option 2 ID : 6306803266267
Option 3 ID : 6306803266268
Option 4 ID : 6306803266266

Q.5 IfAdenotes '+, B denotes 'x'. C denotes ', and D denotes '+, then what will be the value of the following equation?
102C95DI9ASBT7="

Ans 1. 132
X2 130
X3 134
X4 135

Question ID : 630680833845

Option 1 ID : 6306803266259
Option 2 ID : 6306803266261
Option 3 ID : 6306803266260
Option 4 ID : 6306803266258
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Q.6  Select the option that is related to the fifth letter cluster in the same way as the second letter cluster is related to the first
letter cluster, and the fourth letter cluster is related to the third letter cluster
KJU:PQF :: FRM: UIN :: NHY : 7
Ans 1. MSB
X 2. MSC
X 3. NSB
X 4 NTB
Question ID : 630680833832
Option 1 ID : 6306803266206
Option 2 ID : 6306803266209
Option 3 ID : 6306803266207
Option 4 ID : 6306803266208
Q7 N % O’ means ‘N is the wife of O
‘N + O” means ‘N is the husband of O°
‘N + O means ‘N is the mother of O’
‘N — O’ means ‘N is the daughter of O’
How is Q related to T in the expression ‘Q—R+-S=+T'?
Ans X 1. Mother
« 2. Sister
X 3. Wife
X 4. Daughter
Question ID : 630680833747
Option 1 ID : 6306803265869
Option 2 ID : 6306803265866
Option 3 ID : 6306803265868
Option 4 ID : 6306803265867
Q.8 Ifthe positions of the first and the third digits within each number are interchanged, which of the following will be the
hundredth digit of the second-highest number thus formed?
729,614, 837,492, 356
Ans 717
X2 5
K3 8
X4 0
Question ID : 630680833726
Option 1 ID : 6306803265782
Option 2 ID : 6306803265785
Option 3 ID : 6306803265783
Option 4 ID : 6306803265784
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Q.9  Select the option that is related to the fifth number in the same way as the second number is related to the first number,
and the fourth number is related to the third number.

221 217273 321 351 2
Ans 1. 27

x 2.

~ 3

X 4.

[ Y o R
oo e Ln

Question ID : 630680833850

Option 11D : 6306803266279
Option 2 ID : 6306803266280
Option 3 ID : 6306803266278
Option 4 ID : 6306803266281

Q.10 Find the missing element in the word pair which is related to the fifth word in the same way as the second word is
related to the first word, and the fourth word is related to the third word.
TAME : TEMA :: SPOT : STOP :: PALE: ?

Ans 1. TAME
+ 2. PELA
X 3. PAEL
X 4 PELA

Question ID : 630680833713

Option 11D : 6306803265731
Option 2 ID : 6306803265730
Option 3 ID : 6306803265733
Option 4 ID : 6306803265732

Q.11 If Kunal's mother is the daughter of Ms. Riva's mother, then how is Ms. Riya related to Kunal?
Ans X 1. Mother's mother

X 2. Sister's daughter

« 3. Mother's sister

X 4 Wife's sister

Question ID : 630680833708

Option 1 ID : 6306803265710
Option 2 ID : 6306803265711
Option 3 ID : 6306803265713
Option 4 ID : 6306803265712
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Q12 Arrange the given words in the alphabetical order.

—

. BUTTERFLY
2. BEE
3. BREEZE
4. BUSH
5. BEETLE
Ans X 1. 25314
« 2. 25341
X 3. 23451
X4 25413

Question ID : 630680833704

Option 11D : 6306803265695
Option 2 ID : 6306803265694
Option 3 ID : 6306803265697
Option 4 ID : 6306803265696

Q.13 If lawyer is called doctor, doctor is called Artist, Artist is called teacher, teacher is called engineer, and engineer is called
Journalist, who will diagnose illness?

Ans X 1. Teacher
X 2. Lawyer
3 Artist
X 4. Doctor

Question ID : 630680833821

Option 11D : 6306803266162
Option 2 ID : 6306803266165
Option 3 ID : 6306803266163
Option 4 ID : 6306803266164

Q14 YWhich number will replace the question mark (?) in the given series?

3,12, 48, 192, 768, ?
Ans X 1. 3078
X 2. 3070
X 3. 3074
4 3072

Question ID : 630680833848

Option 1 ID : 6306803266273
Option 2 ID : 6306803266270
Option 3 ID : 6306803266272
Option 4 ID : 6306803266271
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Q.15 How many symbols are there in the given letter-symbol series that are immediately preceded by a vowel and also
immediately followed by a consonant?
O!RASEMPI&UANT

Ans X 1. 5
22
X3 3
X4 1

Question ID : 630680833785

Option 11D : 6306803266018
Option 2 ID : 6306803266021
Option 3 ID : 6306803266020
Option 4 ID : 6306803266019

Q.16 Select the option that is related to the fifth number in the same way as the second number is related to the first number,
and the fourth number is related to the third number:
441 : 9261 :: 361 : 2261 :: 289 : ?

Ans 1. 4913
X 2. 3957
X 3. 4326
X 4. 3535

Question ID : 630680833811

Option 11D : 6306803266122
Option 2 ID : 6306803266123
Option 3 ID : 6306803266124
Option 4 ID : 6306803266125

Q.17 Select the option that is related to the fifth word in the same way as the second word is related to the first word, and the
fourth word is related to the third word.
Anthropology : Man :: Apiculture : Honeybee :: Astrologer : ?

Ans X 1. Planet
X 2. Poems
« 3. Future
X 4. Plant

Question ID : 630680833792

Option 11D : 6306803266047
Option 2 ID : 6306803266049
Option 3 ID : 6306803266048
Option 4 ID : 6306803266046
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Q18 Select the set of numbers that is similar to the following sets.
(1331, 121, 11)

(4096, 256, 16)
Ans 1. (1728, 144, 12)
X 2. (216, 38, 6)
X 3. (2197, 196, 13)
X 4. (4098, 256, 16)

Question ID : 630680833853
Option 11D : 6306803266291
Option 2 ID : 6306803266290
Option 3 ID : 6306803266292
Option 4 ID : 6306803266293
Q.19 In a certain code language, if RAIN is coded as 42, FIRE is coded as 38, then what will FISH be coded as?
Ans X' 1 46
V2 42
X3 38
X 4 52
Question ID : 630680833780
Option 1 ID : 6306803265999
Option 2 ID : 6306803266000
Option 3 ID : 6306803265998
Option 4 ID : 6306803266001
Q.20 Which of the following numbers will replace the question mark (?) in the given series?
20,12, 2.-10,-24, 2
Ans X' 1 -56
X 2. 230
3. 40
X4 49
Question ID : 630680833729
Option 1 ID : 6306803265796
Option 2 ID : 6306803265794
Option 3 ID : 6306803265795
Option 4 ID : 6306803265797

Section : General intelligence and Reasoning Ability 2
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Ans

Find the wrong term in the following letter series based on English alphabetical order.

IS, JT. KR, IV, MW
1. KR

X2 JT

X 3. MW
X4 1S

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680833720

6306803265758
6306803265759
6306803265761
6306803265760
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Q.2 A round sheet of paper is folded along the dotted line successively along the directions shown and is then eut in the last

as shown below. How will it appear when unfolded?

Ans
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A
VIV

<

Question ID : 630680833723

Option 11D : 6306803265773
Option 2 ID : 6306803265770
Option 3 ID : 6306803265772
Option 4 ID : 6306803265771

Q.3 Inahotel, there are five guests - X, Y, Z, W, and V staying on five different floors. The bottommost floor is mumbered as
1, and the floor immediately above it is numbered as 2, and so on. X, Y. and Z do not have rooms on floor number 1. V
stays on the topmost floor. Y stays on the floor number 3. X does not stay on floor number 2. On which floor number
does W stay?

Ans X 1, 4
X2 3
X3 2

o 4.

—_

Question ID : 630680833739

Option 1 ID : 6306803265835
Option 2 ID : 6306803265836
Option 3 ID : 6306803265834
Option 4 ID : 6306803265837

Q.4 Sixpeople A, D, G, ], M, and P are sitting on a circular table facing towards the centre. J is to the immediate right of G.
Only two persons sit between G and M. M is adjacent to both P and A. T sits third to the right of A. Who is sitting to the
immediate right of A?

Ans 1 D
X2 P
X3 M
X4 G

Question ID : 630680833816

Option 11D : 6306803266142
Option 2 ID : 6306803266144
Option 3 ID : 6306803266143
Option 4 ID : 6306803266145
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Q.5 Two statements are given, followed by two conclusions numbered I, and II. Assuming the statements to be true, even if

they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:
Some writers are poets.
All poets are dreamers.

Conclusions:
I Some dreamers are writers.
II. All dreamers are poets.

Ans X 1. Only conclusion II follows

& 2. Both conclusions I and II follow

« 3. Only conclusion I follows

& 4. Neither conclusion I nor II follows

Question ID : 630680833749

Option 1 ID : 6306803265875
Option 2 ID : 6306803265876
Option 3 ID : 6306803265874
Option 4 ID : 6306803265877

Q.6 Six family members Ava, Liam, Emma, Benjamin, Zoe, and Oliver are seated at a circular table facing towards the
centre. Liam is to the immediate left of Oliver, and Ava is second to the left of Liam. Zoe is second to the left of
Benjamin. Who sits adjacent to both Oliver and Zoe?

Ans X' 1. Ava
« 2. Emima
X 3. Benjamin

X 4. Liam

Question ID : 630680833776

Option 1 ID : 6306803265983
Option 2 ID : 6306803265982
Option 3 ID : 6306803265985
Option 4 ID : 6306803265984

Q.7 Four pairs of words are given out of which the words in three pairs have a certain common relationship. Choose the odd
pair of words.

Ans X 1. Aijrport: Pilot
X 2. Fire Station: Firefighter
X 3. Hospital: Nurse
« 4 Bank: Builder

Question ID : 630680833839

Option 1 ID : 6306803266236
Option 2 ID : 6306803266235
Option 3 ID : 6306803266234
Option 4 ID : 6306803266237
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Q.8 Inacertain code language, if ORANGE is coded as 151811475, HAMMER is coded as 811313518, then what will
COFFEE be coded as?

Ans X' 1. 3166555
¥ 2. 3156655
X 3. 3156556
X 4. 3155665

Question ID : 630680833742

Option 11D : 6306803265849
Option 2 ID : 6306803265846
Option 3 ID : 6306803265848
Option 4 ID : 6306803265847

Q.9 There are 75 boxes kept one above the other. A particular box is selected and its rank from the top is found to be 33rd.
Find its rank from the bottom.

Ans 1. 43rd
X 2. 44th
X 3. 47th
X 4. 42nd

Question ID : 630680833817

Option 11D : 6306803266148
Option 2 ID : 6306803266147
Option 3 ID : 6306803266149
Option 4 ID : 6306803266146

Q.10 Which of the following number-letter clusters will replace the question mark (?) in the given series to make it logically
complete?
D84, F65, H46, 127, 7

Ans X 1. 18
v2 18
X319
X4 19

Question ID : 630680833842

Option 11D : 6306803266247
Option 2 ID : 6306803266246
Option 3 ID : 6306803266248
Option 4 ID : 6306803266249
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Q.11 Six people Alice, Bob, Carol, David, Emily. and Frank are sitting on a circular table facing towards the centre. David
sits adjacent to both Alice and Emily. Carol sits to the immediate right of Bob. Alice and Bob are not immediate
neighbors. Frank and Alice are not immediate neighbors. Who sits to the immediate left of Bob?

Ans X 1. David
+ 2. Frank
X 3. Alice
X 4. Emily

Question ID : 630680833774

Option 11D : 6306803265974
Option 2 ID : 6306803265975
Option 3 ID : 6306803265976
Option 4 ID : 6306803265977

Q.12 Inaclass. Advait ranks 16th from the top. Anvi ranks 27th from the bottom. There are 42 students whose ranks are in
between Advait's and Anvi's. Find the total number of students in the class.

Ans X 1. 82
¥ 2. 85
X3 83
X 4 84

Question ID : 630680833738

Option 1 ID : 6306803265832
Option 2 ID : 6306803265831
Option 3 ID : 6306803265833
Option 4 ID : 6306803265830

Q.13 Two statements are given, followed by two conclusions numbered I, and II. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:
All paintings are artworks.

Some artworks are not sculptures.

Conclusions:
1. Some sculptures are not paintings.
II. All sculptures are artworks.

Ans X 1. Only conclusion I follows

X 2. Only conclusion II follows

< 3. Both conclusions I and II follow

« 4. Neither conclusion I nor IT follows

Question ID : 630680833751

Option 11D : 6306803265882
Option 2 ID : 6306803265883
Option 3 ID : 6306803265884
Option 4 ID : 6306803265885
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Ans X 1. Tense : Relaxed
X 2. Clear : Hazy
X 3. Simple : Complex
« 4 Top : Apex

Q.14 Four word pairs have been given, out of which three are alike in some manner and one is different. Select the odd word.

Question ID : 630680833797
Option 1 ID : 6306803266068
Option 2 ID : 6306803266066
Option 3 ID : 6306803266067
Option 4 ID : 6306803266069
Q.15 Based on the alphabetical order, three of the following four are alike in a certain way and thus form a group. Which is
the one that does not belong to that group?
(Note: The odd man out is not based on the mumber of consonants/vowels or their position in the letter cluster)
Ans X 1. HIG
X2 VWU
X3 YZX
« 4 FGH
Question ID : 630680833798
Option 1 ID : 6306803266070
Option 2 ID : 6306803266072
Option 3 ID : 6306803266073
Option 4 ID : 6306803266071
Q.16 In this question, two statements have been given followed by two conclusions numbered I and II. Assuming that all
information in the statements are true, analyze the two conclusions together and determine whether any of them
logically and definitely follow(s) from the information given in the statements.
Statement I Some bottles are bags
Statement IT: All the boxes are bags.
Conclusion I: Some bottles are boxes.
Conclusion IT: Some boxes are bags.
Ans 1. Only conclusion II follows
& 2. Neither conclusion I nor II follows
X 3. Only conclusion I follows
X 4. Both conclusions I and II follow
Question ID : 630680833829
Option 1 ID : 6306803266195
Option 2 ID : 6306803266197
Option 3 ID : 6306803266194
Option 4 ID : 6306803266196
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pair.

Ans X 1. Baseball : Ball
+ 2. Football : Racket
X 3. Hockey : Stick

X 4. Cricket ; Bat

Q.17 Four word pairs have been given, out of which three are alike in some manner and one is different. Select the odd word

Question ID : 630680833757
Option 1 ID : 6306803265909
Option 2 ID : 6306803265906
Option 3 ID : 6306803265907
Option 4 ID : 6306803265908
Q.18 Three of the following four figures are alike in a certain way and thus form a group. Which is the one that does not
belong to that group?
Ans
&~
< 2
X 3.
W4 /
Question ID : 630680833804
Option 1 ID : 6306803266096
Option 2 ID : 6306803266095
Option 3 ID : 6306803266094
Option 4 ID : 6306803266097
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Q.19 Select the word-pair in which the two words are related in the same way as the two words of the given word-pair.
Cryptic: Mysterious

Ans X 1. Obsolete: Modern
& 2. Thick; Thin
& 3. Harsh : Gentle

« 4. Fragile: Delicate

Question ID : 630680833835

Option 1 ID : 6306803266219
Option 2 ID : 6306803266221
Option 3 ID : 6306803266220
Option 4 ID : 6306803266218

Q.20 Which of the following letter-number cluster will replace the question mark (?) in the given series to make it logically
complete?

13028, 7, 15832, 16R34, 17Q36

Ans X 1. 14532
X 2. 10T30
« 3 14130
X4 12T30

Question ID : 630680833802

Option 1 ID : 6306803266087
Option 2 ID : 6306803266086
Option 3 ID : 6306803266089
Option 4 ID : 6306803266088

Section : General Awareness 1

Q.1 Digital Health Summit 2023 was organized by Confederate of Indian Industry (CII) and cobranded with Ministry of
Health & Family Welfare, at

Ans 1. Goa
X 2. New Delhi
X 3. Bengaluru

& 4. Chennai

Question ID : 630680831545

Option 1 ID : 6306803257227
Option 2 ID : 6306803257225
Option 3 ID : 6306803257226
Option 4 ID : 6306803257228
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Q.2 Read the following about the launch of the first Women Police Station.

A. Ladakh, the Union Territory, has marked a momentous occasion with the establishment of it’s first-ever women
police station.

B. This significant step is aimed at empowering women and ensuring their safety.

Identify the CORRECT statement/statements. (July 2023)

Ans 1. BothAand B
X2 OnlyA

X 3 Only B
& 4. Neither A nor B

Question ID : 630680831461

Option 11D : 6306803256891
Option 2 ID : 6306803256889
Option 3 ID : 6306803256890
Option 4 ID : 6306803256892

Q.3 Which Indian institute is partnering with Reliance Jio for the introduction of the Bharat GPT' program in December
20237

Ans X 1. Indian Institute of Science, Bengaluru
X 2. Indian Institute of Astrophysics, Bengaluru
« 3. Indian Institute of Technology-Bombay
X 4. National Institute of Technology, Tiruchirappalli
Question ID : 630680831346
Option 1 ID : 6306803256430
Option 2 ID : 6306803256429
Option 3 ID : 6306803256431
Option 4 ID : 6306803256432
Q4 Females have copies of X chromosome.
Ans X 1. Five
X 2. Four
X 3. Three
« 4 Two

Question ID : 630680831492

Option 1 ID : 6306803257013
Option 2 ID : 6306803257014
Option 3 ID : 6306803257015
Option 4 ID : 6306803257016
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Q.5

reproduction of the algae is by fragmentation.
Ans X 1. Sexual
« 2. Vegetative
X 3. Solaris
X 4 Asexual

Question ID : 630680831571

Option 11D : 6306803257331
Option 2 ID : 6306803257330
Option 3 ID : 6306803257332
Option 4 ID : 6306803257329

Q6 Which of the following is a 4th degree of honour award in India?

Ans X 1. Padma Vibhushan
X 2. Bharat Ratna
A 3. Padma Bhushan
+ 4 Padma Shri

Question ID : 630680831435

Option 1 ID : 6306803256786
Option 2 ID : 6306803256785
Option 3 ID : 6306803256787
Option 4 ID : 6306803256788

Q.7 Which among the following is the gel-like fluid inside the cell and is the medium for chemical reaction?
Ans X 1. Nucleus

« 2. Cytoplasm

X 3. Nucleolus

& 4. Cell membrane

Question ID : 630680831413

Option 1 ID : 6306803256698
Option 2 ID : 6306803256699
Option 3 ID : 6306803256700
Option 4 ID : 6306803256697
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@8 Which of the following is the official language of Uttarakhand?

Ans X 1. Assamese
X 2. Bengali
+ 3. Hindi
X 4. Telegu

Question ID : 630680831477

Option 11D : 6306803256956
Option 2 ID : 6306803256953
Option 3 ID : 6306803256955
Option 4 ID : 6306803256954

Q.9 In which year was Tamil declared as one of the Classical Languages of India?

Ans X 1. 2005
« 2. 2004
X 3. 2006
X 4. 2007
Question ID : 630680831516
Option 1 ID : 6306803257110
Option 2 ID : 6306803257109
Option 3 ID : 6306803257111
Option 4 ID : 6306803257112
Q.10

Read the following about the importance of Vitamin C.

A. Vitamin C is an essential micronutrient and an antioxidant.
B. It gives protection against infections.

Identify the INCORRECT statement/statements.

Ans X 1. Both A and B

« 2. Neither A nor B

X 3 Only A

X4 OnlyB

Question ID : 630680831494

Option 1 ID : 6306803257023
Option 2 ID : 6306803257024
Option 3 ID : 6306803257021
Option 4 ID : 6306803257022
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Q.11 A group of researchers found a new wasp species in the state of . (January 2023)
Ans X 1. Meghalaya
X 2. Maharashtra

« 3. Karnataka
X 4 Assam

Question ID : 630680831419

Option 11D : 6306803256724
Option 2 ID : 6306803256722
Option 3 ID : 6306803256721
Option 4 ID : 6306803256723

Q.12 InMarch 2023, World bank announced to provide 2 complimentary loans of 500 million USD each to support India's
which health mission?

Ans 1,
I?fadhan Mantri-Ayushman Bharat Health Infrastructure Mission.
A 2. Aam Aadmi Bima Mission
< 3. National Rural Health Mission
X 4. West Bengal Health Scheme

Question ID : 630680831305

Option 1 ID : 6306803256265
Option 2 ID : 6306803256266
Option 3 ID : 6306803256267
Option 4 ID : 6306803256268

Q.13 Pradhan Mantri Garib Kalyan Ann Yojana (PMGKAY) is an integrated food security scheme launched by the Central
Government of India in January . (TJanvary 2023)

Ans X 1. 2003
X 2. 1993
3. 2023
X4 2013

Question ID : 630680831502

Option 1 ID : 6306803257054
Option 2 ID : 6306803257053
Option 3 ID : 6306803257056
Option 4 ID : 6306803257055
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Q.14

15 NOT a renewable natural resource.
Ans X 1. Water
X 2. Wind
X 3. Forest

« 4 Minerals

Question ID : 630680831496

Option 11D : 6306803257031
Option 2 ID : 6306803257030
Option 3 ID : 6306803257029
Option 4 ID : 6306803257032

Q15 YWhich among the following is a famous festival of Bihar, India?

Ans 1. Chhath Puja
X 2. Gudi Padva

A 3. Onam
X 4. Ugadi
Question ID : 630680831399
Option 1 ID : 6306803256642
Option 2 ID : 6306803256643
Option 3 ID : 6306803256644
Option 4 ID : 6306803256641
Q.16  India's remarkable rise to place in the Climate Change Performance Index (CCPI) is fuelled by its outstanding
performance in renewable energy and low greenhouse gas emissions. (December 2023)
Ans X 1. 5th
X 2. 6th
X 3. 8th
¢ 4 Tth

Question ID : 630680831420

Option 1 ID : 6306803256725
Option 2 ID : 6306803256726
Option 3 ID : 6306803256728
Option 4 ID : 6306803256727
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Q.17 During which festival do people fly kites to celebrate the arrival of spring and mark the end of the winter season in
Northern India?

Ans X 1. Bi.hl]
A 2. Onam

X 3. Ugadi
« 4 Makar Sankranti

Question ID : 630680831358

Option 1 ID : 6306803256478
Option 2 ID : 6306803256479
Option 3 ID : 6306803256480
Option 4 ID : 6306803256477

Q.18 Read the following about the responsibilities of Public Health.
A. Tracking disease outbreaks and vaccinating communities to avoid the spread of disease.

B. Advocating for laws to keep people safe, including smoke-free indoor air and seatbelts.
Identify the CORRECT statement/statements.

Ans X 1. Neither A nor B
X2 OnlyB
3 BothAand B
X 4 Only A

Question ID : 630680831455

Option 1 ID : 6306803256868
Option 2 ID : 6306803256866
Option 3 ID : 6306803256867
Option 4 ID : 6306803256865

Q.19 The Ministry of Minority Affairs (MoMA) during the year 2023, has conceptualized the Pradhan Mantri Virasat Ka
Samvardhan (PM VIKAS) Scheme, that subsumed/converged existing schemes of the Ministry.

Ans X 1. 8]
2.5
X3 7
X4 15

Question ID : 630680831543

Option 1 ID : 6306803257219
Option 2 ID : 6306803257217
Option 3 ID : 6306803257218
Option 4 ID : 6306803257220
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Q.20 Who's autobiography is "Playing It My Way," providing insights into his illustrious cricketing career and personal life?

Ans X 1. Rahul Dravid
« 2. Sachin Tendulkar
X 3. Virender Sehwag

X 4. Virat Kohli

Question ID : 630680831354

Option 1 ID : 6306803256463
Option 2 ID : 6306803256461
Option 3 ID : 6306803256464
Option 4 ID : 6306803256462

Section : General Awareness 2

Q.1 Out of the given states, which of the following has the least population of slums as per the Census of 2011?

Ans X 1. Orissa
X 2. Haryana
« 3. Gujarat
X 4. Punjab

Question ID : 630680831525

Option 1 ID : 6306803257145
Option 2 ID : 6306803257147
Option 3 ID : 6306803257146
Option 4 ID : 6306803257148

Q.2 Which physical region is primarily responsible for the rain shadow effect in India?
Ans X 1. Bay of Bengal

X 2. Indian Ocean

« 3 Western Ghats

X 4. Eastern Ghats

Question ID : 630680831363

Option 11D : 6306803256497
Option 2 ID : 6306803256498
Option 3 ID : 6306803256499
Option 4 ID : 6306803256500
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Q.3 InIndian political system, the is the constitutional head of the executive of the Union of India.
Ans

X 1. Council of Ministers
X 2. Vice President

+ 3. President

X 4. Prime Minister

Question ID : 630680831450
Option 1 ID : 6306803256845
Option 2 ID : 6306803256848
Option 3 ID : 6306803256847
Option 4 ID : 6306803256846
Q.4  The first phase, called the House Listing and Housing Census was conducted between April and September,
across the country.
Ans X' 1. 2013
X 2. 1995
X 3. 1984
« 4 2010
Question ID : 630680831564
Option 1 ID : 6306803257304
Option 2 ID : 6306803257302
Option 3 ID : 6306803257301
Option 4 ID : 6306803257303
Q.5 Which of the following athletes secured a silver medal in the decathlon event at the Asian Games 20237
Ans X 1. Virat Kohli
X 2. Jora Singh
« 3. Tejaswin Shankar
X 4. Neeraj Chopra
Question ID : 630680831378
Option 1 ID : 6306803256558
Option 2 ID : 6306803256560
Option 3 ID : 6306803256559
Option 4 ID : 6306803256557
Q.6 From which of the following Constitutions has the political part of the Indian Constitution been drawn?
Ans 1. British
X 2. Trish
X 3. French
X 4 American
Question ID : 630680831486
Option 1 ID : 6306803256992
Option 2 ID : 6306803256990
Option 3 ID : 6306803256991
Option 4 ID : 6306803256989
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Q.7 Who was the revolutionary figure recognized for participating in the Kakori Conspiracy, the Mainpuri Conspiracy, and
his affiliation with the Hindustan Socialist Republican Association (HSRA)in British India?

Ans X 1. Mahatma Gandhi
X 2. Bhagat Singh

« 3. Ashfaqullah Khan
& 4. Sardar Vallabhbhai Bhai Patel

Question ID : 630680831391

Option 1 ID : 6306803256611
Option 2 ID : 6306803256609
Option 3 ID : 6306803256610
Option 4 ID : 6306803256612

Q.8 Which economic indicator is considered to be one of the most accurate leading indicators, surveying consumers about
their attitudes toward the economy and perceptions of economic activity?

Ans X 1. Durable Goods Orders
X 2. Yield Curve
« 3. Consumer Confidence Index

X 4. Company Performance

Question ID : 630680831349

Option 1 ID : 6306803256441
Option 2 ID : 6306803256442
Option 3 ID : 6306803256444
Option 4 ID : 6306803256443

Q.9 Indian freedom fighter Bhagat Singh was executed for his involvement in which anti-colonial ineident against British
rule?

Ans X 1. The Chauri Chaura incident
X 2. The Jallianwala Bagh massacre

X 3. The Kakori Conspiracy

« 4. The Lahore Conspiracy

Question ID : 630680831390

Option 11D : 6306803256608
Option 2 ID : 6306803256607
Option 3 ID : 6306803256606
Option 4 ID : 6306803256605
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Q10 Which of the following articles of the Indian Constitution cannot be suspended?
Ans X 1. 18 and 19

X 2. 23 and 24

3 20and 21

X4 22and 23

Question ID : 630680831447
Option 1 ID : 6306803256833
Option 2 ID : 6306803256836
Option 3 ID : 6306803256834
Option 4 ID : 6306803256835
Q@M Who established the Mughal Empire in India?
Ans X' 1. Aurangzeb
2. Babur
X 3. Akbar
A 4. Shah Jahan
Question ID : 630680831513
Option 1 ID : 6306803257099
Option 2 ID : 6306803257100
Option 3 ID : 6306803257097
Option 4 ID : 6306803257098
Q.12 Which of the following regions in India is known for its unique biodiversity hotspot, housing a variety of flora and
fauna, including the endangered Great Indian Rhinoceros?
Ans 1. Eastern Himalayas
X 2. Western Coastal Plains
& 3. Thar Desert
X 4. Sundarbans
Question ID : 630680831362
Option 1 ID : 6306803256496
Option 2 ID : 6306803256494
Option 3 ID : 6306803256495
Option 4 ID : 6306803256493
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commonly referred to as the Budget Statement, specified?

Ans X 1. Article 10
X 2. Article 370
X 3. Article 377
« 4 Article 112

Q.13 Under which article of the Indian Constitution is the requirement of presenting the Annual Financial Statement,

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Option 4 ID :

630680831308

6306803256277
6306803256279
: 6306803256280
6306803256278

Pradesh, Maharashtra, and Gujarat before draining into the Arabian Sea?

Ans

X 1. Ganges

X 2. Yamuna
« 3. Warmada

Q.14 Which river originates from the Amarkantak Plateau in Madhya Pradesh and flows through the states of Madhya

X 4. Godavari
Question ID : 630680831401
Option 1 ID : 6306803256651
Option 2 ID : 6306803256652
Option 3 ID : 6306803256649
Option 4 ID : 6306803256650
Q.15 The confluence of the Alaknanda and Bhagirathi rivers forms which major river in India?
Ans X 1. Krishna
« 2. Ganges
X 3. Godavari
X 4 Yamuna
Question ID : 630680831361
Option 1 ID : 6306803256492
Option 2 ID : 6306803256489
Option 3 ID : 6306803256491
Option 4 ID : 6306803256490
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Q.16 Which ruler of the Delhi Sultanate is credited with the construction of the Tughlagabad Fort in Delhi?
Ans X 1. Muhammad bin Tughlag
X 2. Alauddin Khilji
« 3. Ghivasuddin Tughlug
X 4. Balban
Question ID : 630680831312
Option 1 ID : 6306803256295
Option 2 ID : 6306803256296
Option 3 ID : 6306803256294
Option 4 ID : 6306803256293
Q17 Who among the following chairs the State Planning Board in India?
Ans X 1. Home Minister
X 2. President
X 3. Governor
+ 4. Chief Minister
Question ID : 630680831329
Option 1 ID : 6306803256363
Option 2 ID : 6306803256364
Option 3 ID : 6306803256361
Option 4 ID : 6306803256362
Q18 YWhich of the following is NOT a commercial bank?
Ans 1. Reserve Bank of India
X 2. State Bank of India
X 3. Punjab National Bank
X 4. Bank of Maharashtra
Question ID : 630680831427
Option 1 ID : 6306803256753
Option 2 ID : 6306803256754
Option 3 ID : 6306803256755
Option 4 ID : 6306803256756
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Q.19 Who among the following was awarded the Major Dhyan Chand Khel Ratna award in 2023 for their outstanding
performance in Sports?

Ans X 1. PV Sindhu
« 2. Chirag Shetty
X 3. Neeraj Chopra
& 4. Virat Kohli

Question ID : 630680831297

Option 11D : 6306803256233
Option 2 ID : 6306803256235
Option 3 ID : 6306803256234
Option 4 ID : 6306803256236

Q.20 Which constitutional body is responsible for making recommendations on the distribution of net proceeds of taxes
between the Union and the States of India?

Ans X 1. Planning Commission

& 2. Union Public Service Commission
& 3. National Commission for Scheduled Castes
« 4. Finance Comimission

Question ID : 630680831328

Option 11D : 6306803256359
Option 2 ID : 6306803256358
Option 3 ID : 6306803256360
Option 4 ID : 6306803256357

Section : Arithmetical and Numerical Ability 1

Q.1 What will be the greatest four digit number which can be completely divided by 12. 16, 18 and 20?

Ans X 1. 9800
X 2. 9540
X 3. 9660
« 4. 9360

Question ID : 630680835803

Option 1 ID : 6306803273984
Option 2 ID : 6306803273985
Option 3 ID : 6306803273983
Option 4 ID : 6306803273982

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//1258024204/125802420452D1896/17193068958444396/2311...  29/80


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

715124, 11:59 AM cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258024204/1258024204S2D1896/1719306895844....

Q.2 Find the rate of interest if the difference between C.Iand $.I on 44,000, compounded annually, for 2 years is ¥ 110.
Ans X 1. 10%

X2 30

¥ 3. 5%

X 4. 49

Question ID : 630680835593

Option 11D : 6306803273145
Option 2 ID : 6306803273143
Option 3 ID : 6306803273144
Option 4 ID : 6306803273142

Q.3 The product of two co-prime numbers is 899. What will be the LCM of the two numbers?
Ans 1. 809

X2 564

X3 0

X4l

Question ID : 630680835720

Option 11D : 6306803273651
Option 2 ID : 6306803273653
Option 3 ID : 6306803273652
Option 4 ID : 6306803273650

Q.4 Neeraj bought a tractor in 2019 for Rs. 4,50,000. If the value of the tractor depreciates by 20% each vear, then find its
worth in the year 2022.

Ans X 1. Rs.224866
2. Rs.230400
X 3. Rs.254268
X 4. Rs.245782

Question ID : 630680835754

Option 1 ID : 6306803273786
Option 2 ID : 6306803273787
Option 3 ID : 6306803273789
Option 4 ID : 6306803273788
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Q.5

The bar graph below shows the number of paracetamol tablets sold by four

sold by store A to the paracetamol tablets sold by store C?

3500 -

2688
2486
2500
2016

2000 -
1500 -
1000 -
500

[

A B

Shop

Numbers of paracetamol tablets sold

Ans X 1.
X 2
X 3.
4.

Je e Lh L
;..L-ijUl

different medical shops A, B, C, and D. What is the ratio of paracetamol tablets

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680835597

6306803273160
6306803273161
6306803273158
6306803273159

Ans 1. Rs, 68
X 2. Rs. 67
X< 3. Rs, 70
X 4 Rs. 69

Q.6 Suraj allows a discount of 15% on a book whose marked price is 2100. What is the cost price so that the profit is 25%7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680835695

6306803273551
6306803273550
6306803273553
6306803273552
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Q.7

The following bar graph shows the sales of two companies J and K in the last five
years. Consider Al fo be the average sales of the company J in all the five vears.

Consider A2 to be the difference between the total sales of companies J and K in

all the five years. What will be the approximate value of ﬁ?

2 Sales of company ]  ® Sales of company K
900 - 855
200 - 755 750
700 640
o s64
g so0 4 450 478 o
w e 320 320
300
m 4
100 4
o
2018 2019 2020 2021 2022
Year
Ans X 1. 0.5
2 08
<3 0.6
X407
Question ID : 630680835678
Option 1 ID : 6306803273482
Option 2 ID : 6306803273485
Option 3 ID : 6306803273483
Option 4 ID : 6306803273484
Q.8 Simran visited two shops. Shop A was offering a flat 30% discount on an item. Shop B was offering two successive
discounts of 20% and 10% on the same item. Which shop should Simran buy the item from?
Ans X 1. Data insufficient
X 2. Shop B
« 3. Shop A
X 4. Both are the same.
Question ID : 630680835696
Option 1 ID : 6306803273557
Option 2 ID : 6306803273555
Option 3 ID : 6306803273554
Option 4 ID : 6306803273556
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Q9  The sum of cubes of n natural number is 23409. Find the value of n.
Ans X 1. 19
X2 15
X316
4 17
Question ID : 630680835600
Option 1 ID : 6306803273173
Option 2 ID : 6306803273170
Option 3 ID : 6306803273171
Option 4 ID : 6306803273172
Q10 . : :
Find the approximate value of ¥ 0.000512
Ans 1. 0.28
X 2. 0.66
X3 032
X4 015

Question ID : 630680835605

Option 11D : 6306803273190
Option 2 ID : 6306803273193
Option 3 ID : 6306803273191
Option 4 ID : 6306803273192

Q.11 Nixon has three pieces of wood of length 216 m, 180 m, and 168 m. If he wants to cut all the wood into equal planks,
what is the greatest possible length of each plank?

Ans 1. 12m
X2 14m
X3 18m
X4 8m

Question ID : 630680835683

Option 11D : 6306803273503
Option 2 ID : 6306803273504
Option 3 ID : 6306803273505
Option 4 ID : 6306803273502
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Q12 Which of the following numbers is divisible by 157
Ans X 1. 4570

X 2. 4205

X 3 5315

« 4 3810

Question ID : 630680835679

Option 1 ID : 6306803273489
Option 2 ID : 6306803273488
Option 3 ID : 6306803273487
Option 4 ID : 6306803273486

13 (5.8)° — (4.8)% isequalto:
Ans X 1. 68.62

v2 84.52

X 3. 5485

X 4.92.54

Question ID : 630680835765

Option 11D : 6306803273831
Option 2 ID : 6306803273832
Option 3 ID : 6306803273830
Option 4 ID : 6306803273833

Q.14 The average of 15 numbers is 32.2. If 10 numbers of average x are added to them, then the average of all the numbers
increases by one. Find the value of x.

Ans X' 1. 332
2 347
X3 396
X4 315

Question ID : 630680835588

Option 11D : 6306803273124
Option 2 ID : 6306803273123
Option 3 ID : 6306803273125
Option 4 ID : 6306803273122
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Q15 Find the average of the squares of numbers between 2 and 8.

Ans X' 1. 74
X2 24
3. 27
X4 29

Question ID : 630680835547

Option 1 ID : 6306803272958
Option 2 ID : 6306803272959
Option 3 ID : 6306803272960
Option 4 ID : 6306803272961

Q.16 Ina mixture of 66 litres. the ratio (by volume) of milk and water is 2: 1. If X litres of water is added to the mixture. the
ratio of milk and water becomes 11: 10. What is the value of X7

Ans X' 1. 14
¥ 2 18
X3 10
X4 20

Question ID : 630680835549

Option 11D : 6306803272966
Option 2 ID : 6306803272969
Option 3 ID : 6306803272967
Option 4 ID : 6306803272968

Q.17 What will be the compound interest on a sum of ¥ 2200 for 2 years at the rate of 20% per annum when the interest is
compounded yearly?

Ans X 1. 2086
« 2. 2968
X 3. I 088
X 4 966

Question ID : 630680835552

Option 11D : 6306803272980
Option 2 ID : 6306803272978
Option 3 ID : 6306803272979
Option 4 ID : 6306803272981
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Q18 1y pie charts given below show percentage of expenditures of a family under different heads

in the years 2021 and 2022. Under which of these heads did the percentage of expenditures
increase from 2021 to 2022?

Percentage of total expenditures Percentage of total expenditures
in 2021 in 2022

Ans X 1. Child education and medical
« 2. Child education and house rent
X 3. House rent and groceries
& 4. Medical and entertainment
Question ID : 630680835755
Option 1 1D : 6306803273793
Option 2 ID : 6306803273790
Option 3 ID : 6306803273791
Option 4 ID : 6306803273792
Q19 1
Find the valueof 9.8 = 1.4 + (;) ¥ 5.4.
Ans X' 1. 3.6
X2 6.4
3 7.6
K4 54

Question ID : 630680835642

Option 1 ID : 6306803273340
Option 2 ID : 6306803273339
Option 3 ID : 6306803273338
Option 4 ID : 6306803273341
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Q.20

The pie chart given below shows the sale of different fruits in a day by
Akbar. Find the difference between sales of mangoes and kiwis if a total of
1550 kg of fruits were sold in a day.

Percentage sale of different
fruitsin a day

Ans X 1. 58 kg
2 62kg
X3 68kg
X 4 65kg
Question ID : 630680835676
Option 1 ID : 6306803273474
Option 2 ID : 6306803273475
Option 3 ID : 6306803273477
Option 4 ID : 6306803273476
Section : Arithmetical and Numerical Ability 2
Q.1 If the selling price of an item becomes six times of what it actually is, the nominal profit becomes seven times of what
it actually is. Find the actual profit percentage.
Ans X 1. 300%
2. 500%
X 3. 100%
X 4. 250%
Question ID : 630680835774
Option 11D : 6306803273868
Option 2 ID : 6306803273869
Option 3 ID : 6306803273866
Option 4 ID : 6306803273867
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by Rakesh is 25%, find the total number of valid votes polled.

Ans X 1. 12500

Q.2 Inanelection between two candidates, Dipam got 7200 of the total valid votes. If the number of valid votes received

X 2. 28800
« 3. 9600
X 4. 18600
Question ID : 630680835767
Option 1 ID : 6306803273839
Option 2 ID : 6306803273841
Option 3 ID : 6306803273838
Option 4 ID : 6306803273840
Q.3 Atankis filled in 3 hours by three pipes A, B and C. The pipe C is thrice as fast as B and B is four times as fast as A.
How much time will pipe A alone take to fill the rank?
Ans X 1. 53 hours
« 2. 51 hours
X 3. 52 hours
& 4. 50 hours
Question ID : 630680835702
Option 11D : 6306803273581
Option 2 ID : 6306803273579
Option 3 ID : 6306803273580
Option 4 ID : 6306803273578
Q.4 5 menor 10 women earn ¥ 16,500 in a day. How much will 15 women and 5 men earn in one day?
Ans 1.7 40,500
X 2. %35,550
K 3242600
4 T41250
Question ID : 630680835621
Option 11D : 6306803273255
Option 2 ID : 6306803273256
Option 3 ID : 6306803273254
Option 4 ID : 6306803273257
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Q.5 By travelling in a car, Yuvraj can cover a certain distance in 80 minutes at a speed of 96 km/hr. At what approximate

speed should Yuvraj travel if he has to cover the same distance in 45 minutes?

Ans X 1. 195.8 km/hr
X 2. 185.4 km/hr
« 3. 170.7 km/hr
X 4. 200 km/hr

Question ID : 630680835825

Option 11D : 6306803274072
Option 2 ID : 6306803274071
Option 3 ID : 6306803274070
Option 4 ID : 6306803274073

Q.6 Ina circular race of 1600 m, Farukh and Simba start from the same point and at the same time with speeds of 9 nv's
and 5 m/s respectively. Find after how much time they will meet again for the first time on the track if they are
running in the same direction.

Ans X 1. 200 sec
X 2. 300 sec
« 3. 400 sec
X 4..500 sec

Question ID : 630680835704

Option 1 ID : 6306803273586
Option 2 ID : 6306803273587
Option 3 ID : 6306803273588
Option 4 ID : 6306803273589

Q.7 Suppose two successive increases of 30% each is equivalent to a single increase of y%, and two successive decreases
of 30% each is equivalent to a single decrease of z%. Approximately by what percent is y more than z7

Ans X' 1. 389
X2 41%
X 3. 30%
« 4 35%

Question ID : 630680835691

Option 1 ID : 6306803273536
Option 2 ID : 6306803273537
Option 3 ID : 6306803273534
Option 4 ID : 6306803273535
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Q.8  The first, second, and third numbers of a proportion are 77, 63, and 121. What is the 4th number?
Ans 71 00

X2 55
X3 66
X4 77

Question ID : 630680835618

Option 1 ID : 6306803273242
Option 2 ID : 6306803273244
Option 3 ID : 6306803273243
Option 4 ID : 6306803273245

Q.9 Laxman and Bipin start running on a circular track having a length of 660 meters from the same point simultaneously
and in the same direction with speeds of 6 m/s and 12 m/s respectively. After how much time from the start will they
meet again at the starting point?

Ans X' 1. 55 sec
X 2 95sec
« 3 110 sec
X 4 T8 sec

Question ID : 630680835824

Option 11D : 6306803274066
Option 2 ID : 6306803274068
Option 3 ID : 6306803274069
Option 4 ID : 6306803274067

Q.10 Ifthe price of wheat increases by 18%. then by approximately what percentage should Mona reduce the consumption
of wheat so that expenses on wheat remains unchanged?

Ans 1. 15.25%
X2 18.4%
X 3. 14.75%
K 4 16.8%

Question ID : 630680835810

Option 1 1D : 6306803274011
Option 2 ID : 6306803274012
Option 3 ID : 6306803274010
Option 4 ID : 6306803274013
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Q.11 Pankaj bought a pair of shoes and sold them for Rs. 5852. If he thus incurred a loss of 24%, find the cost price of the
pair of shoes.

Ans X 1. Rs. 7070
X 2. Rs, 7007
X 3. Rs. 7000
« 4 Rs, 7700

Question ID : 630680835773

Option 11D : 6306803273862
Option 2 ID : 6306803273865
Option 3 ID : 6306803273863
Option 4 ID : 6306803273864

Q.12 What time will it take for a sum of Z 660 to become an amount of ¥ 726 at 2.5% p.a simple interest?

Ans

X 1. 3 years
X 2. 1 year

3. 4 vears
X 4. 2 years

Question ID : 630680835591

Option 11D : 6306803273134
Option 2 ID : 6306803273136
Option 3 ID : 6306803273137
Option 4 ID : 6306803273135

Q.13 Pasha borrows Rs. 52000 from Laila for a period of four years. What will be the rate of simple inferest if Pasha has to
pay an interest of Rs. 20800 at the end of four years?

Ans X 1. 14%
X2 [2%
X 3. 16%
v 4 10%

Question ID : 630680835751

Option 1 ID : 6306803273776
Option 2 ID : 6306803273775
Option 3 ID : 6306803273777
Option 4 ID : 6306803273774
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Q.14 Inan election, three candidates contested. The first candidate got 30% votes and the second got 34% votes. If the total
number of votes polled was 17.000, find the number of votes got by the 3rd candidate.

Ans X 1. 6420
X2 6310
X 3. 6620
4 6120
Question ID : 630680835647
Option 11D : 6306803273360
Option 2 ID : 6306803273359
Option 3 ID : 6306803273358
Option 4 ID : 6306803273361
Q.15

If 66% of A = % of B, then find A: B.

Ans X' 1. 14: 17

X2 10:13
3 10:11
X4 5:7

Question ID : 630680835569

Option 11D : 6306803273049
Option 2 ID : 6306803273047
Option 3 ID : 6306803273048
Option 4 ID : 6306803273046

Q16 If Sp=6q = 8r, then find the value of p: q: ¢

Ans X 1. 12:10: 16
2 24:20: 15
X3 15:18:22
X4 24:28415

Question ID : 630680835777

Option 1 ID : 6306803273880
Option 2 ID : 6306803273881
Option 3 ID : 6306803273878
Option 4 ID : 6306803273879
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Q.17 12 taps having the same size. fill a tank in 36 minutes. If four taps go out of order, how long would the remaining taps
take to fill the tank?

Ans 1. 54 mins
X 2. 288 mins
& 3. 36 mins
X 4. 24 mins

Question ID : 630680835740

Option 1 ID : 6306803273732
Option 2 ID : 6306803273733
Option 3 ID : 6306803273731
Option 4 ID : 6306803273730

Q.18 Two trains with lengths 117 m and 126 m respectively are moving towards each other. Their speeds are 13 m/s and 14
m/s. What will be the time needed by the trains to cross each other?

Ans X 1. 13 seconds
X 2. 11 seconds
X 3. 7 seconds
+ 4. 0 seconds

Question ID : 630680835786

Option 11D : 6306803273917
Option 2 ID : 6306803273916
Option 3 ID : 6306803273914
Option 4 ID : 6306803273915

Q.19 Rachit bought a pen for Rs. 2650 and sold it to Fahad. If Rachit earned a profit of 38%, at what price did Fahad buy it?

Ans X 1. Rs.3442
+ 2. Rs.3657
X 3 Rs.3185
X 4. Rs.3526

Question ID : 630680835813

Option 11D : 6306803274024
Option 2 ID : 6306803274025
Option 3 ID : 6306803274023
Option 4 ID : 6306803274022

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//1258024204/125802420452D1896/17193068958444396/2311...  43/80


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

715124, 11:59 AM cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258024204/1258024204S2D1896/1719306895844.. ..

Q.20 A sum is divided between Ram and Shilpa in the ratio of 3 : 5. If Ram's share is 42,000, find the total amount.

Ans % 1. T 1,32,000
X 2. % 1,14,000
X 3. % 1,10,000
& 4 T 1,12,000

Question ID : 630680835659

Option 11D : 6306803273406
Option 2 ID : 6306803273408
Option 3 ID : 6306803273409
Option 4 ID : 6306803273407

Section : Test of English Language and Comprehension 1

Q.1  Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

Don't worry about not getting this job, honey—as the end of one situation is often followed by the start of a new one.

Ans 1. One door closes, another opens

X 2. Armchair critic
X 3. Pierced one's heart

& 4. Run out of steam

Question ID : 630680834006

Option 11D : 6306803266899
Option 2 ID : 6306803266900
Option 3 ID : 6306803266898
Option 4 ID : 6306803266901

@2 Choose the word that can substitute the given group of words.

Someone who destroys religious images

Ans 1. Iconoclast

X 2. Iconolatry
& 3. Ignorant

X 4. Polytheist

Question ID : 630680834081

Option 1 ID : 6306803267187
Option 2 ID : 6306803267186
Option 3 ID : 6306803267188
Option 4 ID : 6306803267189
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Q.3 The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of
the sentences to form a coherent paragraph.

P. Sacred groves are the tracts of virgin forest that were left untouched by the local inhabitants, harbour rich
biodiversity, and are protected by the local people due to their cultural and religious beliefs and taboo that the deities
reside in them.

Q. Ethno-botanical exploration in biosphere reserve of central India was based on traditional knowledge of tribes.
R. The man is using plants in various ways since existence of his life on the earth.

S. They use it in many ways including worshipping gods and goddess for the protection and betterment of human life

Ans X 1. SPQR
X 2. RQSP
X 3. RSPQ
« 4. QPRS

Question ID : 630680834205

Option 11D : 6306803267659
Option 2 ID : 6306803267660
Option 3 ID : 6306803267658
Option 4 ID : 6306803267661

Q.4 Improve the underlined part of the sentence. Choose “No improvement’ as an answer if the sentence is grammatically
correct.

During next few years, I developed new mathematical techniques.

Ans X 1. an next few years

X 2. a next few years
« 3. the next few years

X 4. No improvement

Question ID : 630680834240

Option 1 ID : 6306803267792
Option 2 ID : 6306803267790
Option 3 ID : 6306803267791
Option 4 ID : 6306803267793

@5 Choose the word that means the same as the given word.

Easily

Ans 1. Indefatigably
X 2. Assiduously
X 3. Thoroughly
X 4. Adeptly

Question ID : 630680834094

Option 1 ID : 6306803267234
Option 2 ID : 6306803267235
Option 3 ID : 6306803267236
Option 4 ID : 6306803267237
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Q.6 Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically
correct.

She wore a golden and a black colour embroidered suit.

Ans X 1. wore a golden and an black

X 2. wore the golden and a black
X 3. No improvement

« 4. wore a golden and black

Question ID : 630680833989

Option 1 ID : 6306803266835
Option 2 ID : 6306803266836
Option 3 ID : 6306803266837
Option 4 ID : 6306803266834

Q.7 A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.

He is a true gentleman his airs and elegance. and he will take it all in good part, you treat him like a
man and not a lion.

Ans X 1. in spite of, yet

X 2. despite of, whether
« 3. despite, if

X 4. in spite of, either

Question ID : 630680833986

Option 11D : 6306803266822
Option 2 ID : 6306803266823
Option 3 ID : 6306803266825
Option 4 ID : 6306803266824

Q.8 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically
cotrect.

Don't leave the tap runs and waste water.

Ans X 1. tap ran
« 2. tap running
X 3. No improvement

X 4. tap run

Question ID : 630680834075

Option 11D : 6306803267164
Option 2 ID : 6306803267162
Option 3 ID : 6306803267165
Option 4 ID : 6306803267163
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Q.9 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically
correct.

The Ganga river system serves as vital source of water for irrigation, drinking, and industrial purposes.

Ans 1. The Ganga river system serves as a

X 2. Ganga river system serves as a
X 3. The Ganga river system serves as an

X 4. No improvement

Question ID : 630680834241

Option 1 ID : 6306803267794
Option 2 ID : 6306803267795
Option 3 ID : 6306803267796
Option 4 ID : 6306803267797

Q.10 Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically
correct.

She goes to a Icon Garden sometime in the evening.

Ans 1. the Icon Garden sometime in the

X 2. an [con Garden sometime in the
X 3. No improvement

X 4. alcon Garden sometime in an

Question ID : 630680833988

Option 11D : 6306803266832
Option 2 ID : 6306803266831
Option 3 ID : 6306803266833
Option 4 ID : 6306803266830

Q.11 A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
Wednesday, the victim's 15-year-old son was using his phone when he received a call an unknown
number,

Ans 1. On, from
X 2. At for
X 3 In, of
X 4. Into, with

Question ID : 630680834236

Option 1 ID : 6306803267774
Option 2 ID : 6306803267776
Option 3 ID : 6306803267775
Option 4 ID : 6306803267777
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Q12 Choose the word that can substitute the given group of words.

A person who strongly and unfairly dislikes other people. ideas, etc.
Ans & 1. Bigot

X 2. Fugitive

X 3. Polyglot

X 4. Introvert

Question ID : 630680834165

Option 1 ID : 6306803267508
Option 2 ID : 6306803267509
Option 3 ID : 6306803267506
Option 4 ID : 6306803267507

Q.13 A sentence has been given with a blank to be filled with an appropriate option, Choose the correct alternative.
The 8.1 per cent interest rate was recommended the CBT after its meeting in Guwahati the
chairmanship of union minister of labour.

Ans % 1. with, in
X 2. along, about
« 3. by, under
X 4. through. upon

Question ID : 630680834110

Option 11D : 6306803267294
Option 2 ID : 6306803267297
Option 3 ID : 6306803267296
Option 4 ID : 6306803267295

Q.14 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically
correct.

They have a swimming pool at their house.

Ans X 1. has a swimming

« 2. No improvement
X 3. were a swimming

& 4. have a swim

Question ID : 630680834034

Option 11D : 6306803267006
Option 2 ID : 6306803267009
Option 3 ID : 6306803267008
Option 4 ID : 6306803267007
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Q.15 In the following question. out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.

To open one’s eye

Ans

« 1. To make somebody realise the reality
X 2. To bring to an end
X 3. To pass in amusement

X 4. To win a prize

Question ID : 630680834051

Option 1 ID : 6306803267070
Option 2 ID : 6306803267072
Option 3 ID : 6306803267073
Option 4 ID : 6306803267071

Q.16 Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically
correct.

Comfort food can helps pique their appetite.

Ans 1. can help

X 2. can helped
X 3. can helping

X 4. No improvement

Question ID : 630680834118

Option 1 ID : 6306803267328
Option 2 ID : 6306803267326
Option 3 ID : 6306803267327
Option 4 ID : 6306803267329

Q.17 A sentence has been given with a blank to be filled with an appropriate option, Choose the correct alternative.
He that all was well, because he had done the best that he from day to day.

Ans 1. knew. could
X 2. knows, can
X 3. had known, should

& 4. known, can

Question ID : 630680834196

Option 11D : 6306803267625
Option 2 ID : 6306803267622
Option 3 ID : 6306803267623
Option 4 ID : 6306803267624
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Q18 Choose the word that can substitute the given group of words.

Something happening in four years
Ans X 1. Decennial

« 2. Quadrennial

X 3. Perennial
X 4. Quinguennial

Question ID : 630680834251

Option 1 ID : 6306803267835
Option 2 ID : 6306803267834
Option 3 ID : 6306803267837
Option 4 ID : 6306803267836

Q.19 In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.

To die in a ditch

Ans 1 To fight till death

« 2. To abandon a person in time of need
X 3. To backtrack on vour words

X 4. To murder someone

Question ID : 630680834050

Option 11D : 6306803267069
Option 2 ID : 6306803267067
Option 3 ID : 6306803267066
Option 4 ID : 6306803267068

Q.20 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

We need to discuss the detailed facts and the practical aspects of the proposal before going any further.

Ans X 1. Snowball effect
+ 2. Nuts and bolts
X 3. Pros and cons

X 4. Live and learn

Question ID : 630680834217

Option 11D : 6306803267705
Option 2 ID : 6306803267704
Option 3 ID : 6306803267702
Option 4 ID : 6306803267703

Section : Test of English Language and Comprehension 2
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Q1 Select the most appropriate homonym for the given blank.
The explorer knew how to off predators in the wilderness.
Ans 1. fend
X2 fen
& 3. faint
X 4. feint
Question ID : 630680834183
Option 11D : 6306803267577
Option 2 ID : 6306803267576
Option 3 ID : 6306803267575
Option 4 ID : 6306803267574
Q.2

Choose the word that is opposite in meaning to the given word.

Reproach
Ans s 1. Encourage
X 2. Threaten
X 3. Approach
& 4. Assassinate
Question ID : 630680834179
Option 1 ID : 6306803267559
Option 2 ID : 6306803267560
Option 3 ID : 6306803267558
Option 4 ID : 6306803267561
@3 Choose the word that is opposite in meaning to the given word.
Quenched
Ans X 1. Indulged
X 2. Piqued
« 3. Slaked
X 4. Cloyed

Question ID : 630680834053

Option 11D : 6306803267078
Option 2 ID : 6306803267080
Option 3 ID : 6306803267081
Option 4 ID : 6306803267079
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Q.4  Select the incorrectly spelt word from the given sentence.

When you deliver a presentation at work, brainstrom with your coworkers, address a problem with your boss, or
confirm details with a client about their project, you use communication skills,

Ans X 1. presentation
& 2. deliver
« 3. brainstrom
X 4 client
Question ID : 630680834142
Option 1 ID : 6306803267418
Option 2 ID : 6306803267419
Option 3 ID : 6306803267420
Option 4 ID : 6306803267421
@5 Choose the word that can substitute the given group of words.
Rising in arm against an authority
Ans

X 1. Prompt

& 2. Validate
X 3. Cisgender

« 4. Insurrection

Question ID : 630680834040

Option 11D : 6306803267032
Option 2 ID : 6306803267030
Option 3 ID : 6306803267033
Option 4 ID : 6306803267031

Q.6 Choose the most appropriate antonym of the underlined word.
Orders are sporadic — sometimes four or five come in one night, sometimes just one per week.
Ans X 1. infrequent
« 2. continuous
X3 irk
X 4. scarce

Question ID : 630680834139

Option 11D : 6306803267406
Option 2 ID : 6306803267408
Option 3 ID : 6306803267407
Option 4 ID : 6306803267409
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Q.7  Select the incorrectly spelt word from the given sentence.
Parents who want to transfer custody of a child to someone other than a reletive must seek permission from a judge.
An =
S &1 reletive

X 2. custody
X 3 seek

X 4. permission

Question ID : 630680834100

Option 1 ID : 6306803267259
Option 2 ID : 6306803267258
Option 3 ID : 6306803267260
Option 4 ID : 6306803267261

Q.8 The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of
the sentences to form a coherent paragraph.

P. Flat design is the direction that found its broad and diverse expression on digital art and is famous for the
minimalistic and concise use of visual expressive means.

Q. Nowadays the term flat design is widely used as the opposite of rich design due to harmonic simplicity taken as the
basis of this design approach.

R. The most prominent feature which actually has inspired the name of this direction is applying flat 2-dimensional
visual details as the opposite to highly realistic and detailed skevomorphic images.

S. Flat design has been developing for the last couple of years covering more and more fields of graphic design.

Ans X 1. PQSR
X 2. PSRQ
« 3. QPRS
X 4. RSPQ

Question ID : 630680834204

Option 1 ID : 6306803267654
Option 2 ID : 6306803267656
Option 3 ID : 6306803267655
Option 4 ID : 6306803267657

Q.9 Choose the most appropriate antonym of the underlined word.

Day by day. it drives people to distraction by diverting energy to mindless legal compliance.
Ans X 1. affirm

X 2. submission

A 3. consent
« 4. refusal

Question ID : 630680834013

Option 11D : 6306803266928
Option 2 ID : 6306803266929
Option 3 ID : 6306803266927
Option 4 ID : 6306803266926
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Q.10 A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
The divers present the beach immediately took out Miley from the water, could not find the other two
sisters.

Ans X 1. nearly, yet

« 2. near, but
X 3. near, s0

X 4. nearest, though

Question ID : 630680834152

Option 1 ID : 6306803267455
Option 2 ID : 6306803267454
Option 3 ID : 6306803267457
Option 4 ID : 6306803267456

Comprehension:

Read the following passage and answer the questions given below.

Respiratory syncytial virus that typically produces a mild cold like illness but in susceptible
individuals, particularly infants under six months of age, is a major cause of severe and
potentially fatal lower respiratory diseases. Severe bronchiolitis and pneumonia caused by
(RSV) occurs most commonly in the elderly and in young children. An estimated 60 to 70
percent of children have been infected with RSV by age one, and nearly all children have
been infected by age two. Because RSV effectively evades immunity, repeat infections are
common. RSV infection is seasonal, occurring as an annual epidemic during the winter in
most countries in temperate regions.

Direct person-to-person contact is thought to be the most common route of RSV
transmission. The virus also can be transmitted through the air, such as by coughing or
sneezing, and through direct contact with a contaminated surface followed by touching of the
face. Symptoms generally appear within four to six days of infection and include runny nose,
cough, headache, fever, and wheezing. In instances of severe illness, affected individuals
may have a high fever, severe wheezing, rapid or laboured breathing, and bluish lips or
fingers. Infants may only show signs of irritability, fatigue, and breathing difficulties, even in
severe cases. The only pharmacological therapy available for treatment of RSV is the
nucleoside analogue ribavirin, which can be administered orally, parenterally (by injection or
infusion), or by inhalation.

SubQuestion No : 11
Q.11 Which age group could be considered as least likely to contact RSV infection?
Ans X 1.Elderly

& 2. Adults
25 3. Infants
% 4. Young children

Question ID : 630680834131

Option 11D : 6306803267377
Option 2 ID : 6306803267375
Option 3 ID : 6306803267374
Option 4 ID : 6306803267376

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//1258024204/125802420452D1896/17193068958444396/2311...  54/80


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

715124, 11:59 AM cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258024204/1258024204S2D1896/1719306895844.. ..

Comprehension:

Read the following passage and answer the questions given below.

Respiratory syncytial virus that typically produces a mild cold like illness but in susceptible
individuals, particularly infants under six months of age, is a major cause of severe and
potentially fatal lower respiratory diseases. Severe bronchiolitis and pneumonia caused by
(RSV) occurs most commonly in the elderly and in young children. An estimated 60 to 70
percent of children have been infected with RSV by age one, and nearly all children have
been infected by age two. Because RSV effectively evades immunity, repeat infections are
common. RSV infection is seasonal, occurring as an annual epidemic during the winter in
most countries in temperate regions.

Direct person-to-person contact is thought to be the most common route of RSV
transmission. The virus also can be transmitted through the air, such as by coughing or
sneezing, and through direct contact with a contaminated surface followed by touching of the
face. Symptoms generally appear within four to six days of infection and include runny nose,
cough, headache, fever, and wheezing. In instances of severe iliness, affected individuals
may have a high fever, severe wheezing, rapid or laboured breathing, and bluish lips or
fingers. Infants may only show signs of irritability, fatigue, and breathing difficulties, even in
severe cases. The only pharmacological therapy available for treatment of RSV is the
nucleoside analogue ribavirin, which can be administered orally, parenterally (by injection or
infusion), or by inhalation.

SubQuestion No : 12

Q.12 Choose the word which is most nearly the same meaning as the word given in bold, as
used in the passage.
Evade

Ans o 1.elude
5 2. attend
X 3. infiltrate
X 4. destroy

Question ID : 630680834130

Option 11D : 6306803267370
Option 2 ID : 6306803267373
Option 3 ID : 6306803267372
Option 4 ID : 6306803267371
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Comprehension:

Read the following passage and answer the questions given below.

Respiratory syncytial virus that typically produces a mild cold like illness but in susceptible
individuals, particularly infants under six months of age, is a major cause of severe and
potentially fatal lower respiratory diseases. Severe bronchiolitis and pneumonia caused by
(RSV) occurs most commonly in the elderly and in young children. An estimated 60 to 70
percent of children have been infected with RSV by age one, and nearly all children have
been infected by age two. Because RSV effectively evades immunity, repeat infections are
common. RSV infection is seasonal, occurring as an annual epidemic during the winter in
most countries in temperate regions.

Direct person-to-person contact is thought to be the most common route of RSV
transmission. The virus also can be transmitted through the air, such as by coughing or
sneezing, and through direct contact with a contaminated surface followed by touching of the
face. Symptoms generally appear within four to six days of infection and include runny nose,
cough, headache, fever, and wheezing. In instances of severe iliness, affected individuals
may have a high fever, severe wheezing, rapid or laboured breathing, and bluish lips or
fingers. Infants may only show signs of irritability, fatigue, and breathing difficulties, even in
severe cases. The only pharmacological therapy available for treatment of RSV is the
nucleoside analogue ribavirin, which can be administered orally, parenterally (by injection or
infusion), or by inhalation.

SubQuestion No : 13
Q.13 How does the RSV transmission most commonly occur?

Ans X 1. Through direct contact with a contaminated surface
" 2. Direct person-to-person contact
#5 3. Through the air
#5 4. Through blood transfusion

Question ID : 630680834129

Option 1 ID : 6306803267367
Option 2 ID : 6306803267369
Option 3 ID : 6306803267366
Option 4 ID : 6306803267368
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Comprehension:

Read the following passage and answer the questions given below.

Respiratory syncytial virus that typically produces a mild cold like illness but in susceptible
individuals, particularly infants under six months of age, is a major cause of severe and
potentially fatal lower respiratory diseases. Severe bronchiolitis and pneumonia caused by
(RSV) occurs most commonly in the elderly and in young children. An estimated 60 to 70
percent of children have been infected with RSV by age one, and nearly all children have
been infected by age two. Because RSV effectively evades immunity, repeat infections are
common. RSV infection is seasonal, occurring as an annual epidemic during the winter in
most countries in temperate regions.

Direct person-to-person contact is thought to be the most common route of RSV
transmission. The virus also can be transmitted through the air, such as by coughing or
sneezing, and through direct contact with a contaminated surface followed by touching of the
face. Symptoms generally appear within four to six days of infection and include runny nose,
cough, headache, fever, and wheezing. In instances of severe iliness, affected individuals
may have a high fever, severe wheezing, rapid or laboured breathing, and bluish lips or
fingers. Infants may only show signs of irritability, fatigue, and breathing difficulties, even in
severe cases. The only pharmacological therapy available for treatment of RSV is the
nucleoside analogue ribavirin, which can be administered orally, parenterally (by injection or
infusion), or by inhalation.

SubQuestion No : 14

Q.14 RSV infection is most common in the countries in regions.
Ans X 1. Tropical
< 2. Polar

o 3. Temperate
5 4. Wet

Question ID : 630680834128

Option 1 ID : 6306803267362
Option 2 ID : 6306803267363
Option 3 ID : 6306803267364
Option 4 ID : 6306803267365
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Comprehension:

Read the following passage and answer the questions given below.

Respiratory syncytial virus that typically produces a mild cold like illness but in susceptible
individuals, particularly infants under six months of age, is a major cause of severe and
potentially fatal lower respiratory diseases. Severe bronchiolitis and pneumonia caused by
(RSV) occurs most commonly in the elderly and in young children. An estimated 60 to 70
percent of children have been infected with RSV by age one, and nearly all children have
been infected by age two. Because RSV effectively evades immunity, repeat infections are
common. RSV infection is seasonal, occurring as an annual epidemic during the winter in
most countries in temperate regions.

Direct person-to-person contact is thought to be the most common route of RSV
transmission. The virus also can be transmitted through the air, such as by coughing or
sneezing, and through direct contact with a contaminated surface followed by touching of the
face. Symptoms generally appear within four to six days of infection and include runny nose,
cough, headache, fever, and wheezing. In instances of severe iliness, affected individuals
may have a high fever, severe wheezing, rapid or laboured breathing, and bluish lips or
fingers. Infants may only show signs of irritability, fatigue, and breathing difficulties, even in
severe cases. The only pharmacological therapy available for treatment of RSV is the
nucleoside analogue ribavirin, which can be administered orally, parenterally (by injection or
infusion), or by inhalation.

SubQuestion No : 15
Q.15 Which of these statements is NOT true, in case of RSV infection?

Ans X 1.RSV effectively evades immunity, so repeat infections are common.

/5 2. RSV infection is seasonal, occurring as an annual wide spread illness during the
winter season.

«” 3. RSV infection is often fatal for the elderly and young children.

25 4. RSV virus can be transmitted through the air.

Question ID : 630680834127

Option 11D : 6306803267360
Option 2 ID : 6306803267358
Option 3 ID : 6306803267359
Option 4 ID : 6306803267361

Comprehension:
In the following passage some of the words have been left out. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

People who __(1)__ more live longer on average. Genetics, social factors, existing health and
other _(2)__ of lifestyle explain some of the association. We should not rule out a direct link
__(3)__ exercise and longevity, but this study suggests that it may have a __(4)__ role than
previously thought. Nevertheless, experimental evidence shows that exercise can prevent
illness and disability, _ (5)__ mood and overall quality of life, which many would regard as
more meaningful outcomes than lifespan alone.
SubQuestion No : 16

Q.16 Select the most appropriate option for blank(5).

Ans X 1.disprove
5 2. improvement
o 3. improve
5 4. import

Question ID : 630680834191

Option 11D : 6306803267603
Option 2 ID : 6306803267602
Option 3 ID : 6306803267604
Option 4 ID : 6306803267605
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Comprehension:
In the following passage some of the words have been left out. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

People who __(1)__ more live longer on average. Genetics, social factors, existing health and
other _ (2)__ of lifestyle explain some of the association. We should not rule out a direct link
__(3)__exercise and longevity, but this study suggests that it may have a __(4)__ role than
previously thought. Nevertheless, experimental evidence shows that exercise can prevent
illness and disability, _ (5)__ mood and overall quality of life, which many would regard as
more meaningful outcomes than lifespan alone.
SubQuestion No : 17

Q.17 Select the most appropriate option for blank(1).

Ans X 1.exercises
25 2. will be exercise
o 3. exercise

X 4. has exercise

Question ID : 630680834187

Option 11D : 6306803267587
Option 2 ID : 6306803267589
Option 3 ID : 6306803267586
Option 4 ID : 6306803267588

Comprehension:
In the following passage some of the words have been left out. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

People who __(1)__ more live longer on average. Genetics, social factors, existing health and
other _ (2)__ of lifestyle explain some of the association. We should not rule out a direct link
__(3)__exercise and longevity, but this study suggests that it may have a __(4)__ role than
previously thought. Nevertheless, experimental evidence shows that exercise can prevent
illness and disability, _ (5)__ mood and overall quality of life, which many would regard as
more meaningful outcomes than lifespan alone.
SubQuestion No : 18

Q.18 Select the most appropriate option for blank(2).

Ans X 1.sorts
X 2. turns
«” 3. aspects
X 4. parts

Question ID : 630680834188

Option 1 ID : 6306803267593
Option 2 ID : 6306803267590
Option 3 ID : 6306803267591
Option 4 ID : 6306803267592
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Comprehension:
In the following passage some of the words have been left out. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

People who __(1)__ more live longer on average. Genetics, social factors, existing health and
other _ (2)__ of lifestyle explain some of the association. We should not rule out a direct link
__(3)__exercise and longevity, but this study suggests that it may have a __(4)__ role than
previously thought. Nevertheless, experimental evidence shows that exercise can prevent
illness and disability, _ (5)__ mood and overall quality of life, which many would regard as
more meaningful outcomes than lifespan alone.
SubQuestion No : 19

Q.19 Select the most appropriate option for blank(4).

Ans X 1.smallest
5 2. small
25 3. more smaller

o 4. smaller

Question ID : 630680834190

Option 11D : 6306803267600
Option 2 ID : 6306803267598
Option 3 ID : 6306803267601
Option 4 ID : 6306803267599

Comprehension:
In the following passage some of the words have been left out. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

People who __(1)__ more live longer on average. Genetics, social factors, existing health and
other _ (2)__ of lifestyle explain some of the association. We should not rule out a direct link
__(3)__exercise and longevity, but this study suggests that it may have a __(4)__ role than
previously thought. Nevertheless, experimental evidence shows that exercise can prevent
illness and disability, _ (5)__ mood and overall quality of life, which many would regard as
more meaningful outcomes than lifespan alone.
SubQuestion No : 20

Q.20 Select the most appropriate option for blank(3).

Ans X 1.aside
2 2. with

5 3. along
o 4. between

Question ID : 630680834189

Option 1 ID : 6306803267596
Option 2 ID : 6306803267594
Option 3 ID : 6306803267595
Option 4 ID : 6306803267597
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Question ID : 630680831938

Option 11D : 6306803258775
Option 2 ID : 6306803258774
Option 3 ID : 6306803258776
Option 4 ID : 6306803258773
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Question ID : 630680832109

Option 1 ID : 6306803259426
Option 2 ID : 6306803259428
Option 3 ID : 6306803259427
Option 4 ID : 6306803259425
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Question ID : 630680831861

Option 11D : 6306803258482
Option 2 ID : 6306803258483
Option 3 ID : 6306803258484
Option 4 ID : 6306803258481
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Question ID : 630680832026

Option 1 ID : 6306803259111
Option 2 ID : 6306803259112
Option 3 ID : 6306803259110
Option 4 ID : 6306803259109
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Ans

Question ID : 630680831988

Option 11D : 6306803258967
Option 2 ID : 6306803258966
Option 3 ID : 6306803258965
Option 4 ID : 6306803258968
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680832097
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6306803259383
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680831969
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6306803258895
6306803258894
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Question ID : 630680832073

Option 1 ID : 6306803259292
Option 2 ID : 6306803259289
Option 3 ID : 6306803259291
Option 4 ID : 6306803259290
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Question ID : 630680832052

Option 1 ID : 6306803259211
Option 2 ID : 6306803259209
Option 3 ID : 6306803259212
Option 4 ID : 6306803259210
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Question ID : 630680832009

Option 1 ID : 6306803259048
Option 2 ID : 6306803259046
Option 3 ID : 6306803259047
Option 4 ID : 6306803259045
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Question ID : 630680831852

Option 1 ID : 6306803258445
Option 2 ID : 6306803258446
Option 3 ID : 6306803258448
Option 4 ID : 6306803258447
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Question ID : 630680832112

Option 1 ID : 6306803259440
Option 2 ID : 6306803259438
Option 3 ID : 6306803259439
Option 4 ID : 6306803259437
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Question ID : 630680831951

Option 1 ID : 6306803258827
Option 2 ID : 6306803258826
Option 3 ID : 6306803258828
Option 4 ID : 6306803258825
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Question ID : 630680831928

Option 11D : 6306803258738
Option 2 ID : 6306803258737
Option 3 ID : 6306803258740
Option 4 ID : 6306803258739
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Question ID : 630680831855

Option 1 ID : 6306803258459
Option 2 ID : 6306803258457
Option 3 ID : 6306803258458
Option 4 ID : 6306803258460
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Question ID : 630680832025

Option 11D : 6306803259106
Option 2 ID : 6306803259107
Option 3 ID : 6306803259105
Option 4 ID : 6306803259108
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Option 3 ID : 6306803259412
Option 4 ID : 6306803259410
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Option 4 ID : 6306803258725

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//1258024204/125802420452D1896/17193068958444396/2311...  67/80


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

715124, 11:59 AM cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258024204/1258024204S2D1896/1719306895844.. ..

Q19 =i am # Miftea ot & 3R 71 = Jeafea Rere &1 ww= #Y o = g A8 &
e 3 7@ T

30 8l W e TUrs HEEEe fEms & O, B s 3uF 99t = e e am

Ans X 1.
38 gl T UF TR HEAEE fGErs aar off, T o 38% 98t & a9 Y o
X 2.
38 BiEl W UF FAE JERUEA @S ot off, Y o 3w% W@t w1 A asiw
3.
38 gl W UH TR AR fomms & o, BT of sEe e & 9 esin o

Ko Hg Ie o E

Question ID : 630680831950

Option 1 ID : 6306803258822
Option 2 ID : 6306803258821
Option 3 ID : 6306803258823
Option 4 ID : 6306803258824
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Question ID : 630680832069

Option 1 ID : 6306803259275
Option 2 ID : 6306803259276
Option 3 ID : 6306803259274
Option 4 ID : 6306803259273
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Q.6

Ans 1 ﬁ@t_'[

Question ID : 630680832125

Option 1 ID : 6306803259489
Option 2 ID : 6306803259490
Option 3 ID : 6306803259492
Option 4 ID : 6306803259491

Q.7 ¢
Jr foT 91T eeg T gATIEE oeg AT |
Ans x 1. ﬁ
2. 3TRTIT
X 3. ﬁ;r
X 4 FAG
Question ID : 630680831914
Option 1 ID : 6306803258686
Option 2 ID : 6306803258685
Option 3 ID : 6306803258688
Option 4 ID : 6306803258687
Q.8 i
AT e &7 JcaH g AT+
o,
Ans 41, 3-1"?33'
X 2. ey
X 3 3T

x4.3_-ﬁj-

Question ID : 630680831910

Option 1 ID : 6306803258669
Option 21D : 6306803258671
Option 3 ID : 6306803258670
Option 4 ID : 6306803258672
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Y afRfRT ue F et g = TEa =Y

Ans & 1. *
X2
X3 AT
X4 FamHE
Question ID : 630680831955
Option 1 ID : 6306803258843
Option 2 ID : 6306803258841
Option 3 ID : 6306803258844
Option 4 ID : 6306803258842
Q.10 .
fArafof@a g & TeH e 79+
Ans x 1. ? ﬁ
X2 faww
X3 Hee
o 4 FEFAT
Question ID : 630680831917
Option 1 ID : 6306803258697
Option 2 ID : 6306803258699
Option 3 ID : 6306803258698
Option 4 ID : 6306803258700
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Comprehension:

fufeiad Tare & SMYR W Ui Uy faT MU § | TN HY earydd U aul Udd UY & IR
faseul o ¥ we! fadwed |
R BT YT X T S b R & ot g R U &t ey UTSTam @ 1 3R 37 R
# T TR R §H TP B @dTierd Ugid P 4, A1 56 U1 Il ¢ b 59 a6 vpfd A $o
Mt a3f 7 §1 O & U - ARa) WTe 91 o 81 fFaf$al 3iR Wak T ohTg 9 gl oTg &l
ARTER TF TU G B! 9T 3 & | TR B 4 THH B gR1-4RT FAIGR OB a0 341 & St
&1 U1 AT § T8 DI dARGER ¢ Sl 1 %, 971 forlt oy & gt ¥ g @ g
Tohfal bl 3R ol | S o forg & wer o fRUd U =R aieh’ J0 & 1Y 9 T8 | 7R dip’
70 & TR § Upfa Ot it b g B & St b wex & 4fiaR 3R eR | a1eR gikd =T (@A
W) BT YT G €, ITDT A PR & SR T T e uspfa 3R wiepfas vl ot
A &1 Iad T H ¢
R Al JU & 1Y W H dshic SiTd & ddl-aid Th TH U+ WY 4 uivay g, fraet
HRET 8 e R, It Tieh-ieh 7ed R el B srapftfa = X6t ot 39 RIH &1 AW U
'H@sﬁg@ﬁewuﬁwqmﬁ-ﬁasﬁ@ﬁﬁw?ﬁ,aﬁﬁuﬁr%wmﬁ
3¢ T gL A
T IR Tk §U P, 3R B! o9 T 91 B2 I8 A1 A B I, FART, IoT1rer, gaddt iR o
T &1 A, Fafea, faferdt siR wari 1 smezon 3 e ot 39 36 s B § 90-100 dH
SHTT-SAT HA-Bd, T, gef Tiowar 3R aof aft g8 off | 981 )Rt Bict I “smadfes fewmsidy
[

BRA M U “siiafioH Hadt g € o TRR 3R 77, 1 & I6d-TaR $3d | T88 o o
Tg aTal 5=t & fore ga &8 %d, T oI gefi &1 ‘argd AT 81 & | Tt &1 g1 3R I W =7
Tfd eI, 30 3T H &) U Rt g
B I R T gU W, SH, sR01E, Y19 & g8 7 $Had 8a1 &l Y B & dedh 80 T
JRrETe o7 4+t el g ], S S a1 o eb, AIRIURET &Y R 37 H Heg dHral gl 399
TORRN B Yo firadT § SR I-1d &7 Wt B giam §, 9o AiasnAe =g SR Tremch
H F1ite B 9o &1 3§, OrTS 919 geo! gicit & | BT 1 RN Gl 5, UMM giiued & &Y
T & U A 91 6
SubQuestion No : 11

Q.1 TR F MYR R IR F=i1a vy &1 997 73]

Ans 1. TP AR IGF ddl $I Sita- A 3gH YHw
X 2. UPTd BT yafFaRur R gER quTa
< 3. UPfd BT IGadl Wy
X 4. TPl B e H 31 g HH

Question ID : 630680831881

Option 1 ID : 6306803258557
Option 2 ID : 6306803258559
Option 3 ID : 6306803258560
Option 4 ID : 6306803258558
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Comprehension:

fufead Tare & SMYR W Ui Uy foT T4 § | TN HY earydd U aul Udd UY & IR
faseul o 9 we! fadwed |
R BT YT X T O b R & ot g R U &t ey UTSTam @1 3R 37 R
# T TR R §H TP B! @a1ierd Ugid B 3, A1 56 U1 Iadl ¢ b 59 ae vpfd A $o
Mt a3 7 §1 O & U e ARa) WTe 9 o €1 faf$al 3iR Wak Ut ohTg 9 gl oTg &t
ARTER T TU G B! 9T 3 & | TR B 4 T B gR1-4RT SR OB a0 31 & St
&1 U AT § T8 B dRGER ¢ Sl 91 %, 91 folt oy & gt ¥ g @ g
Topfal bl 3R Tocieh | S o forg & wer o fRyd U =R aieh’ J0 & 1Y 9 T8 | 7R dip’
70 & TR § Upfa Ot il & g B & St b wex & 4fiaR 3R weR | w18k gikd =T (@A
W) BT YT FRA €, ITDT HAAID PR & SR 1Y T e uspfa 3R wiepfas vl ot
A &1 Iad T H ¢
FeR dlh’ U & 1Y Ve H dshic SiTd b ddl-aid Th TH U WY I uieay geft, fret
HRET 8 e R, It Tieh-Hieh 7ed R el B srapftfa = 38T ot 39 RIH &1 AW U
'H@sﬁg@ﬁewuﬁwqmﬁ-ﬁasﬁ@ﬁﬁw?ﬁ,aﬁﬁuﬁr%wmﬁ
J& T gU A
T IR Tk §U P, 3R B! o9 T d1d B2 I8 A1 A B I, FART, IoT17e, gt iR o
I &1 Hed, Fafea, faferdt siR wari 1 sz 3 e ot 39 36 s B § 90-100 T
S-S HA-Bd, T, gef Tiewar 3R 3¢t aft g8 off | 981 Rt Bict I “smadfes fewmsidy
[
BRA M U “siiafioH Hadt g € o TRR SR 77, 1 B I6d-TaR $d | 88 o o
Tg aTal 5=t & fore gRa &8 %d, T SIR geii &1 ‘argd AT 81 & | Tt ol g1 3R I W =7
Tfd eI, 30 T H &) U Rt g
BRd I R T gU W, SH, k018, UI9d & g8 7 $Had 841 &l Y B & a8 7
JRrETe o7 +ft el g ], S 3 -1 o xb, ATURET &Y R 37 § Heg Pral 3l 399
TORRN B Yoo AT § SR a-1d &7 Wt B 8T €, 9o AlasiAe a-1d SiR Temch
H 91l B 9o &1 3d 8, oS 9 geo! gicit & | B 1 R0 Gl 5, UMM giued & &Y
A1 & U A 91 6
SubQuestion No : 12

Q.12 Trerig # o ¢ Frafiad v o1 Sfa wafgard e 1|
oo

Ans X' 1. 3O
2. 70d
X 3. SHTaie
X 4. 8381

Question ID : 630680831879

Option 11D : 6306803258549
Option 2 ID : 6306803258552
Option 3 ID : 6306803258550
Option 4 ID : 6306803258551
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Comprehension:

Fufead Tare & SR W Ui Uy foT T4 § | T FY eArydd U aul Udd UY & IR
faseul o ¥ we! fadwed |
R BT YT X A S b R & ot g R U ot ey UTSTam @ 1 3R 7RI
H G T[OIR PR §H UPTd B WTerd Usid Bl o, Al &6 Uell =Heiell § [ (¥ IR UPpid d o
Mt 3 7 §1 O & U e ARa) WTe 91 o €1 faf$al 3iR Wak T ohTg 9 gl oTg &l
ARTER T TU G B! 9T 3 & | TR B} 4 T B gR1-4RT SR OB a0 341 & St
&1 U1 AT § T8 DI dRGER ¢ Sl 91 %, 57 foft ooy & gt ¥ g @ g
Topfal bl 3R ol | S o forg & wer o fRyd U =R aieh’ J0 & 1Y 9 T8 | 7R dip’
70 & R § upfa Ot @il & g B & ot b wex & iR 3R eR | w1eR gikd =il (#fA
W) BT YT FRA €, ITDT HAAID PR & SR 1Y T e uspfa 3R wiepfas vl ot
A &1 Iqd T H ¢ |
FeR Al JU & 1Y W H dshic SiTd b ddl-aid Th TH U WY I uivay gaft, foraet
HRET 8 e R, It Tieh-ieh 7ed 5 el B srapftfa = X6t ot 39 RIH &1 AW U
'H@sﬁg@ﬁewuﬁwqmﬁ-ﬁasﬁ@ﬁﬁw?ﬁ,aﬁﬁuﬁr%wmﬁ
J& T gU A
T IR Tk §U P, 3R B! o9d T d1d B2 I8 A1 A B I, FART, IoT17e, gt iR v
T &1 A, Fafea, faferdt siR wari 1 smezon 3 e ot 39 36 s B § 90-100 d&H
S-S HA-Bd, T, g&f Tiowar 3R oot aft g8 off | 981 )Rt Bict I “smadfes fewmidy
[
BRd R U *sifafioH Hadt g € o TRR 3R 77, 1 H I6d-TaR $Rd ¢ | 88 W o
Tg aTal St & fore gRa &8 %d, T SIR geii &1 ‘argd AT 81 & | Tt &) g1 3R I W =7
Tfd eI, 30 30 H 8 U Rt g
BRA RIM | T §T A, SITF, ST, TUd & 3¢ 7 Had 541 Bl Y& B § e o0 I
JRrETe o7 Hft el g ], S 3 -1 0 eb, AIRURET &) R 37 H Heg $Hral 3l 399
TORRN B Yoo AT § SR a-1d &7 Wt B 8T €, 9o AlasiAe a-1d SiR Temch
H 91l B 9o &1 3d 8, oS 91 geo! gicit & | BT 1 RN Gl §, UMM giied & &Y
A1 & U A 91 6
SubQuestion No : 13

Q.13 7Y & YR W, Frafif@d ool § Q, 39 arew 9 gie R g s o1 98
AR fFaT T @)

Ans X 1.9 I al el o 98 wen & S @ T, o 98 W 8l |
X 2. 73 S =fRT U, & fiver T geifenT & wgd Qe g|
o 3. SaTeh & 3aER R =R 3R GETed o1 7|
X 4. T TRETel & o g gefiadi & 91 St I 9% d g8

Question ID : 630680831878

Option 11D : 6306803258546
Option 2 ID : 6306803258548
Option 3 ID : 6306803258545
Option 4 ID : 6306803258547
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Comprehension:

Fufead Tare & YR W Ui Uy faT T4 § | T HY earydd U aul Udd UY & IR
oot o 9 Ue! fadbed |
R BT YT X A O b R & ot g R U &t ey ITSTam @1 3R 37 R
 HY AR R §H TP B! @d1ierd UGid S 4, A1 56 U1 Iadl ¢ b 59 ae vpfa d $o
Mt 3 7 §1 O & U e ARa) WTe 991 o 81 faf$al 3iR Wak T ohTg 9 gl oTg &l
ARTER T TU G B! 9T 3 & | TR B 4 T B gR1-4RT SR OB a0 341 & St
&1 U AT § T8 B dRGER ¢ Sl o1 %, 51 foft oy & wrgoter ¥ g @ g
Tohfal bl 3R ol | S o forg & wer o fRUd U =R dieh’ J0 & 1Y 9 T8 | 7R dip’
70 & R § Upfa Ot il & g B & St b wex & iR 3R weR | a1eR gikd =T (@A
T BT YHU IR €, ITDT AT PR & SR 1Y B Areres? uspfar 3R wrepfas vl ot
A &1 Iad T H ¢
FeR Al U & 1Y Ve H dshic SiTd b ddl-aid Th TH U WY 4 uivay gaft, foraet
HRET 8 e R, It Tieh-ieh 7ed R el B srapffa v X6t ot 39 RIH &1 AW U
'H@sﬁg@ﬁewuﬁwqmﬁ-ﬁasﬁ@ﬁﬁw?ﬁ,aﬁﬁuﬁr%wmﬁ
3¢ T gL A
T IR Tk §U P, 3R B! o9d T d1d B2 I8 A1 A B I, TART, IoT17e, gaddt iR v
T &1 A, Fafea, faferdt siR wari 1 smezon 3 e ot 39 36 s B § 90-100 dH
SHTT-SAT HA-Bd, T, g&f Tiowar 3R oot aft g8 off | 981 )Rt Bict I “smadfes fewmidy
[
BRd R U “sifafioH Hadt g € o TRR 3R 77, 1 H ad-TaR $Rd ¢ | 88 W o
Tg aTal st & fore gRa &8 %d, T oI geii &1 ‘argd AT 81 & | Tt &1 g1 3R I W =7
Tfd eI, 3o 3T H &) U Rt g
BRA RIM | 1 §T A, 1A, ST, Td & 3¢ 7 Had 541 Bl Y& B § e o0 I
JRrETe o7 4t clier g ], S S a1 o eeb, ATRURET &) R 33 H Heg dral gl 399
TRt & g fAredr § iR 9919 &1 &R o) $H §idT 8, SUiAE Al a-1d 3R Terct
H g1l B 9o &1 3d 8, oS 91 geo! Bicit & | BT 1 R Gl §, UMM gied | &Y
A1 & U A 91 6
SubQuestion No : 14

Q.14 mgw,wﬁwmmaﬁ,vﬁwmamﬁﬁvﬂmﬁmmmw
PIAT R

Ans X 1. Upfa P o off Aa Sfiad wem g
X 2. UST & TR, T, B offfe FR&R eRell &l 781 el g
o 3. TP 7 Had gAR RIS TR §HR ARG d1d 1+t g3 3@ 8 HeH 8
X 4. 1w & Ugfa 3 SREd s T HH g1 S|

Question ID : 630680831880

Option 11D : 6306803258553
Option 2 ID : 6306803258555
Option 3 ID : 6306803258554
Option 4 ID : 6306803258556
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Comprehension:

fufead Tare & SMYR W Ui Uy foT T4 § | TN HY earydd U aul Udd UY & IR
faseul o 9 Ue! fadwed |
RN BT YT X A S b R & ot g I U ot ey UTS e @1 SR S R
T TR R §H TP B! @dTierd Ugid S 3, A1 56 U1 Idl ¢ b 59 a6 vpfa A $o
Mt 3 7 §1 O & U e ARa) WTe 9 o 81 faf$al 3iR Wak Tt ohTg 9 gl oTg &
ARTER TF TU G B! T 3 & | TR B 4 T B g1-4RT SR OB a0 341 & St
&1 U AT § T8 DI dRGER ¢ Sl {1 %, 91 foft oy & gt ¥ g @ g
Tohfal bl 3R ol | S o forg & wer o fRUd U =R aieh’ 0 & 1Y 98 T8 | 7R dip’
70 & TR § Upfa Ot il b g B & St b wex & iR 3R eR | w1eR gikd =T (@A
W) BT YT G €, ITDT A PR & SR 1Y T AeresR uspfa 3R wiepfas vl ot
A &1 Iqd T H ¢
R Al U & 1Y W H dshic SiTd b ddl-aid Th TH U WY 4 uivay gaft, fret
HRET 8 e R, ST Tieh-ieh 7ed R el B srapftfa = 36T ot 39 RIH &1 AW U
'H@Gﬁgg@ﬁwluﬁwqmﬁ-ﬁaaﬁ?qmﬁaﬂwﬁ,aﬁﬁuﬁr%wma
3¢ T gL A
T IR Tk §U P, 3R B! o9d T d1d B2 I8 A1 A B I, FART, IoT1re, gaddt ok o
T &1 Hedh, Fafea, faferdt siR wari 1 smezon 3 e ot 39 36 s B § 90-100 dH
SHTT-SAT HA-Bd, T, g&f Tiewar 3R 3¢t aft g8 off | 981 )Rt Bict I “smadfes fewmeidy
[

BRA M U “siiafioH Hadt g € o TRR SR 77, 1 B I6d-TaR $d | 88 o o
Tg aTal 5=t & fore gRa &8 %d, T oI gefi &1 ‘argd AT 81 & | Tt &1 g1 3R I W =7
Tfd eI, 3o T H 8 U Rt g
BRd I R T gU A, SH, k016, UI9d & g8 7 $Had 841 &l PG B & dedh 81 T
JRrETe o7 +ft el g ], S 3 -1 o xb, ATRURET &) R 37 H Heg Hral gl 399
TORRN B Yo firadT § SR I-1d &7 Wt B giam §, 9o AiasnAe =g SR Tremch
H g1l B 9o a1 3d 8, oS 91 geo! gicit & | BT 1 RN Gl 5, UMM giued & &Y
A1 & U A 91 6
SubQuestion No : 15

Q.15 TR F STYR YR e B S W1 BT T4 B

Ans o 1. fARUTHS
X 2. ATARATHS
X 3. 3
X 4. WP

Question ID : 630680831877

Option 1 ID : 6306803258544
Option 2 ID : 6306803258543
Option 3 ID : 6306803258542
Option 4 ID : 6306803258541
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Comprehension:

i fou U UEl @ 3 Wt Bie RU ML €, Udies Rad ®iH & OR fdebed RUTUE I A aRI A
DI 1 faeed Rad -IF &1 gfd wm|

, G 3R T e & FgaR (1) & T <= BT NP gfG &= @ fa ool
B! JaTs-RicaR fadt & 7.6 Ufo=rd I8t 39 1Y HURA g 31 TigE BEEEREE
31 gfG R STRIG B aTaT S &1 g3 3| SId HETS §gd SaTel alal & al 3R ). 31TE ¥l ¥
TP (3) W T U Bl HH R P HITAL Rl 3 | Y& SATGT BN al Sl bl
IR &t 31 J A ITeT @ol TE en | R ¥ o () F o AT HEMm AR A Bl
T B el 5 B @ SIR i H et ot B TR HES ue St ¥1 IR & H Ul dg
F forg YUt Yo 1 A 5T ST 81 39 e ! T A R W (5) @ 81

SubQuestion No : 16
Q.16 Yy ®IF (3) & fore Iugad ey &1 994 Fifom|
Ans 1. gD
X 2. fawreg
X 3.3

X 4. gyt

Question ID : 630680831975

Option 1 ID : 6306803258915
Option 2 ID : 6306803258913
Option 3 ID : 6306803258914
Option 4 ID : 6306803258916

Comprehension:

A Ry T uel # $w Weg ©1S feu MU ¥, ude ad W & IR e fRu M B S aRi H 9
D T fadmed g I & g B

, G 3R T e & I8 (1) & T ¥ &1 3nffes g o @ fa o
B! JaTs-RicieR fagt & 7.6 Ufo=Td I 9% 1Y URA a1 i Tiga BEEEREE!
3T 4G X BRI B ITaT =1 &1 31T 8 1 S AL Sigd SaTeT et & df 3iR.a. 317 Xai ¥e
TR (3) W T Ul Bl HH PR P HITA HRal ¢ | I& SATGT BN al el bl
R3S T FeR AT ool Hem e AR A o (4) FRm A mem e 2a 81
T8 7 Uil & B © SR TS et ot 8 ofR HEE He e €1 aTeiR # W vell der
F MM T D FA BRI TR IBH TR RR_ (5) A gl

SubQuestion No : 17
Q17 g ®IF (2) ¥ oY Sugad fawey &1 999 Fifvm|
Ans X 1. HHME
X 2. dwpfaar
X 3. 3mam™
o 4. srfeawaft

Question ID : 630680831974

Option 11D : 6306803258911
Option 2 ID : 6306803258909
Option 3 ID : 6306803258910
Option 4 ID : 6306803258912
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Comprehension:

i u U UEl ¥ 3 W Big RU ML €, Udies Rad ®iM & °R fdeed RU U T aRI H
DI 1 faeed Rad I &1 gfd w¥m|

| G 3R T e & FgaR (1) & T <= BT NP gfG & @ fo el
B! JaTs-RicaR fragt & 7.6 Ufo=rd I8t 9% 1Y URA g &1 TigE BEEEREE
31 gfg R STRIG B aTaT S &1 g3 3| SId HETS §gd SaTel ala & al 3R o). 31TE X0l ¥
TR (3) W T U Bl HH R P I Rl ¢ | Y& STTGT BN al Sobl bl
R 3. 3E T FoyeR aTel ol HerT g R e o (4) & o A e AR 2§l
T 7 el 5 Bl @ SIR i B et ot B IR HES ue St ¥ aeiR & W Ul dg
F forg YUt Yo 1 o fpar ST 81 39 e ! T A iR R (5) @ g1

SubQuestion No : 18
Q.18 f¥ga = (1) & fore Sugad fawew &1 9g+1 BT
Ans X 1. HRIHH
X 2. FRiag
X 3. Hagddt
o 4.7eA

Question ID : 630680831973

Option 1 ID : 6306803258907
Option 2 ID : 6306803258908
Option 3 ID : 6306803258906
Option 4 ID : 6306803258905

Comprehension:

2 Ry T uel # 5% Weg ©1 U T §, ude ad W & IR e fRu M B S aRi H ¥
D 7 fadmed faa I & gfef dm|
AT, T 3R AT Yaex & I8 (1)%912{%31&5‘13{%?{@3?61@%?3&
ng;rr{ﬁamﬁn@ﬁmm@lsﬂ%wuwgﬁmﬁm 2) ¥ gad ddf
TR BIRIET Y aTelT S &1 §3M1 § | el HEMTTS sgd SaTel el ¢ ol 3 &maﬁ&n's‘%q‘ri‘d
(@)U A Ul B B PR DI DI BT 8| Y€ SIS BT al Sl Bl
&ma%nﬁrmﬁﬁwaﬁfﬂmmlﬁﬂ%&mﬁ (4) & forg A9 mEm R 4 B
T T Ul H BYaT § SR feais | St 37t § 3R WS we Sl 81 S6IR | Al Ol S
¥ forg YUt Ye ) H 5T ST B 1 399 e ! ol It e} R (5) BT g1

SubQuestion No : 19
Q.19 fYaa R (4) ¥ oY Iugad fawey &1 994 Fifvm|
Ans X 1. ORardl
X 2. SrgRardl
« 3. TRD
X 4. ¥

Question ID : 630680831976

Option 11D : 6306803258920
Option 2 ID : 6306803258918
Option 3 ID : 6306803258917
Option 4 ID : 6306803258919
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Comprehension:

i fou U UEl ¥ o W Big RU ML €, Udies Rad =i & 9R fdsbed RU U T aRI H
DI 1 fased Rad ©IF &1 gfd w¥m|

, G 3R T e & IgaR (1) & T <= BT 3NMAF gfg &= @ fo el
B! JaTs-RicaR fagt & 7.6 Ufo=rd 8| 9% 1Y URA g 31 TgE BEEEREE
31 gfG R STRIG B aTaT S &1 §31T 3| SId HETTS §gd SaTel aial & al 3R o). 31T X0 ¥
LGRS (3) H T TRll Y B H B B BRI BT ¢ | ¥ SITGT 1T all Sobl b
SR &t 3 J e are Fof Tem grm | R dF oA (4) % foTQ T W& &R & B
T T Ul 1 B § o fEhie B wrft orrelt § 3R T ue Wit 81 IR § e vt dem
F forg YUt Yo ) A a1 ST B 1 3R el &l T W WR (5) @ g1

SubQuestion No : 20
Q.20 f¥ad T (5) F T Iugad fawey 1 a9+ S|
Ans X 1. Tufa
o 2.
X 3.8m
X 4. 3fryg

Question ID : 630680831977

Option 1 ID : 6306803258922
Option 2 ID : 6306803258924
Option 3 ID : 6306803258921
Option 4 ID : 6306803258923
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